Contents

Contents Page Contents Page
Adjusting Rods & Nuts 2 Threaded Bar 3
RN Bolts DIM 2531 4107 Ceoach Bolts DIM 803 15
Set Sorews DIN 823 &to 10 Bolt Head Screw DIM 571 16
Fine Thread Bolts DIM 850 108 11 L) Bolt 16
Fine Thread et Screws DIM 861 11 Flanged Locking Bolts 7
Allen Head Bolts 12813 Wing Bolts DIN 216 17
Srub Serews DIM 216 14 Eye Bolts DN 580 17
Standard Muts DIM 934 18 519 Domed Cap MNuts 23
Mylock Muts DIM 285 208 M Wilng Muts 23
hetric Lock Mut DIN 280 f 528 21 Ewe Muts DIM 582 23
Conneching Muts 22 Anti-Vibration Flange Mot 23
Casile Muls 22
Taplite Bolt DIM 7500C 24 Countersunk Sorews 27 & 28
Serew Hexagon Head Screws 24 Cylindrical Head DIN 7985 28
Counter Sunk Sorews 24 Dome Head Scrsvw 28
Round Head Screws 25 DIM &4 Assorment Box 28
Counter Sunk Screws 25 Chip Board Sorews 2808 30
Self Tapping Metal Screws 26 Saf Tapping Scraws 20
Posidrive BZP 25 Assortment Box
Culindrical Slotted Head g Wuadl Plugs 30
Ut e el G Tl Standard Washer DIM 1254 ] | Copper Washer Assortment Box 33
Spring Washer DN 1274 H <hims DIMN 938 34525
Large Flat Washers 32 Shims Assoriment Box 25
Heavy Type Washer 3 ¥ Rings 3G to 20
Shake Proof Washer 33 'O Ring Rubber 30
Mord-Lock Shafe Proof Washer 33 "0 Ring Rubber Assordment Box 20
Conical Spring Washer 3 ¥ Ring Aszoriment Boxes 40
(=R LS Inner & Cuter Circlips 41 Spiral Pin DIM 7343 45
Cirdips Assortment Boxes 42 Expansion Bush DIM 1428 45
Safety Ring (E Clip) 43 Split Pin Din 24 45
Starlock Circlios 43 Split Pin Assortiment Boxes 45
Half Moon Clips 43 Linch Pin 45
'R Clips 43 Pipe Linch Pin 45
Roll Fins DIM 1481 44 Assorted Clips & Pin Packs 47
Roll Bins Assortment Box 45 Clevises & Clevis Pins 47
Shafting Collars & Keys BV BOERSET B0 48 Gib Head Keys DN GBAT 50
Shafi Locking Collars 48 Key Assoriment Boxes S0
Key Stesl DIM G220 49 Standard Keys 51
Wioodruff Keys DIN 8888 40

Continued on the next page.....



Contents

Continued.....
Contents Page Contents Page
Chain , Cable & Rope [0 E 52 Dperating Cables 58
Plasfic Chain 53 Acoessones Assortment
Chaan Link Accessories 53 & 54 Turnbuckles oe
Shackles Bow &0 =5 Mylon Rope Lo
Rings 55 Mylon Cord G0
Wire Rope = Farcel Siring Lo
Wire Rope & Accessories 56 & &7 Sizal Rope G0
Stop Cable 57 & 58
(e E - TSR E T Viiom Screw Hose Clamps &1 InsuWlaiing Tape 63
Mini Clam ps &1 Adhesive Tape
Heawy Duty Clamps B2 hMasking Tape L
Lead Clam ps G2 Duick Tape 64
Cable Ties B3 FT.FE. Tape L
Enobs, Handles & Caps A1 Ehl [0 G5 Plastic Caps (i 7]
m Pop Rivels & Rivet Gun &7 Cutter Bar Rivets 68
Springs & Dampers eyl R ol Tt B Spring Assortment Boxes (i)
Extension Springs ] Vibration Dampers T0& T1
Grease Nipples & Hook e E 1 L0015 72 Haook Joints 72
Threaded Bar Adjusting Rods and MNuts

Tra peze Spindle chw Nut

SPINDLE EPINDLE NUT MOLE CAN NUT
I:HM&EEH LEHG-TH FﬂRT Hl.l R FﬂRT NUNMEBER

4EIJ TWE‘I TBHH‘J
234 1070 TS4241 TS241070
24 S50 TE24241 TE24350
s 450 Ts4241 TS24450
4 500 TS4241 TS24500
30 1070 TEI030 TEIMOTD
# an S00 TEI030 TEI0300
30 350 TS30301 TS30350
30 450 TS30301 TS304:50
30 700 TEI030 TEIOF 00
- - TE24242 -
. TS30302 -



Threaded Bar Metric / Imperial

ll:mllﬁl-!““mmﬂm'lmi-‘lﬁlﬂln;ll'_llilllill|ﬂl.l.'ll'|1'|--I-'.-Hn.a.-.u..... UL

WuI||I|Imll-llmnmmnnixllih'hlﬁlﬁ
L Il I i - 4l

METRIC Threaded Bar
Supplied in 106Mmm lengths

HREAD | 4.6 STRENGTH | 4.6 STRENGTH [2.3STRENGTH | 2.2 STRENGTH 0.8 STREMGTH | STAINLESE
ZINC BLACK ZINC BLACHK ZING STEEL
PART NUMBER | PART NUMBER | PART NUMBER | PART NUMEBER | PART NUNMBER | PART NUMBER

L ES MSDIN 975462 MADINGTSRVS
fufid MADIN9FS46E  RMDINGTS46B - - - MUDINGTSRVE
M5 MSDIN9F546E  MSDINGTHMEE  MSDINOFYSEEZ MSDINOTSEEE - MSDINGTSRVE
LIS MEDINGTS46E  MEDINGTS4G6E  MEDINGTSEEZ  MGDINGTSEEE  MEDINSTH0HZ  MEDINSTIRVE
7 NMYDIN9FS46E - - - - -

g MEDINOFS46E  MEDINOTSGE  M3EDINOTSEEE  MEDINOFSEEE  MEDINGFS100Z NMEDINITSRVE

10 MI0DDINSTS462  RMIODINGTS46E  MI0DINGTSEEZ  MIODINATSERE  MIODINSTSI08Z2 MIODINGTISRVE
W12 MIZDINGTS462  MMZDINGTS46E  MI2DINGTSEEZ  MIZDINATSERE  MIZDINSTSI092 MIZDINGTISRVE

fl 14 MIADINOT3EZ  MIADINOTS4GE  NMIADINGTSEEZ  M14DIMOT5EEE - MI4DINGT SRS
R16 MIGDINGF3EZ  NMIGDINOTSAGE NMAGDINGTSEEZ MIGDIMOTSEIE - MHBDINGT SRS
LRl MIEDINGTS46Z  RMBDINGTS46E  PMIBDINGTSEEZ  MIEDINOTSERE - MIEDINGT SRVS
20 M2ODINSTS46Z  M2ODINGTS46E  MIODINGTSBEZ  M2ODINITSERE - M20DINST SRVS
he22 M2ZDINOTHEZ  MZIDINOTS4GE  M22DINGTSEEZ  M22DIMOT5E3E - -
W24 MMDINSTFMEZ  MMMDINGTFI4EE MMDINGTSEEZ  MMDINSTIEZE - M24DINGTSRVE
h27 RMZFDINOTHEZ NMETDINOTS4GE NM2FDINGTSEEZ M2TDIMOT5EEE - -
R30 RMIODINOFHEZ  MIODINOTS4GE NMIODINGTSEEZ  MIODIMOT5EEE - -
M33 MIIDINOTHEZ  MIIDINOTS4GE MIJDINGT5E3Z - - -

36 MIGDINGTS46Z  MIGDINGTS46E  MIGDINGTSREZ - - -

MNote: Part numbers marked in Red are also avalable in 2 & 3 Metre Lengths
Part numbers marked in Blue are alss avallable in 3 Medre Lenglhs

IMPERIAL Threaded Bar
Supplied in 1000mm kengths

THREAD |4.6STRENGTH | 4.6 STRENGTH |B.8STRENGTH | 5.8 STRENGTH
SI2E ZINC BLACK ZINC BLACK
PART NUMBER | PART NUMEBER | PART NUMBER | PART NUNMBER

HELUNC SEUDINGTI46E

BM6 LINC S16DINSTH6E

1R2UNC 120DIN9T 5462

172 WA TANDINGTSA6E

BB WA SEWDINGTS46E

AAUNC MUDINOT5EE MUDINGT5RIE
H4 VN MWDINGT 5468

TiE AN TEWDINGT 5468

1 LRC TUDINOFS46Z 1UDINGTSERE TUDIN97SEEE
1 WA TWDINST S46E

1184 W T4DINGFS46E

1102 Ny T12DINOFSIGE



Metric Bolts DIN 931 Metric Bolis

METRIC Bolt 8.8 Strength - ZINC [DIN 931)
Supplied in PACK quanfities

P - Also available in Siamiess Steel Just replace DIM with RVE eug. M440RVS934
L Also avallable in 10.9 Strength Just replace DIN with 109 e.g. M440109931

-
PART PACK | PART PACK
ET"Ir NUMEE E‘I"lr NUKBER nn' B -I
htd x40 HI-I-I:I'I:IHH:!‘I R0 B0 N1 060DIMNED1 B14 x BO II'IME'[I:IIH'BM

hes x B0 1|:u:|| ha45001Na31 M0 65 1II| M1 0650ING951 B14 % 80 50 B 4900HNS 31
ME w 30 100 MS30DINS31 MADw T 1000 RM10FODINGGT Midw 100 50 MA4100DINS31
MBx 35 100 MS3SDING3 MAGx TS 100 R10FSDINGST Mid4x 110 25  MI4110DINS31
S x40 100 ns40DINGI M10< 80 100  KI1020DIMGI1 M4 120 25 NAS120DIM931
M5 » 50 100 MSS0DINGI M10 85 100  KI102SDINGI1 M1dc 130 25 NA41I0DING31
ME x B0 100 MSG0DINSG3 MAGx 80 100 M1090DINS31 Midx 140 25  MI4140DINSI1
MG x 30 100 MEI0DING3 MAGx 100 100 MII00DINGST  M14x 150 26 MI4150DINSS1

MBE x 35 100 MEISDINS M10x 110 50 KI1011000M9 B1dx 160 25  MA4160DIN9I1
MG x 40 100 ME0DIMS M10x 120 50 KNOI20DAME3T  M14x 980 25  NA4120DIN931
MG x 45 100 964 SDIN9GET MAGx 130 50 MIII0DINGST  M14x 200 26 MI4200DIN931
MG x GO 100 MGES0DINSST MAGx 140 50 MI40DINGST  M14x 220 26 MI4220DIN931
MB x 55 100 MESSDIMS M10x 150 50 KNOISODIMGIT M4 240 25  NA4240DIN931
MG x G0 100 MGE0DINSST MAGx 160 50 MIMGODINGST M6« 50 26 MIGS0DINGDY
MG x 65 100 MGGSDINSGET MAGx AT0 50 MIITODINGST  M1Gx 55 26 MIGSSDINGD
MEx 7O 100 METODIMSI M10x 180 25  KNOCI20DIMGIT M6« &0 25 NHGGODINGIT
MEx 75 100 METIDIMS MA10x 180 25  KIOCI90DIMG31T M6« &5 25  NHG6SDINGIT
MG x B0 100 MGEODINSST MAGx 200 25 MI10200DINS3T  M16x 70 26 MIGFODINGDY
ME x B0 100 RIGI0DINS31 MAZx 40 100 K1240DINS31 MG« 75 26 MIEFSDINGI
Mex 100 100 ME100DING3 MiZx4d 100 M1245DING31 Migx80 26 MIGBODINGTY
RME= 110 100 KIG110DIM931 M1Z2x 50 100 KI1250DIMS31 B16G x BS 25 NHGRSDINGIT
MEx 120 100 RGT200IN931 MAZx 55 100 M12550DINGS31 MiGx 80 26  MIG20DING3T
M7 x 35 100 MFISDIMS M1Z2x 60 100 KI1260DIMS31 M1Gx 100 25  MNAG100DIN931
M7 x 50 100 MFS0DIM9I 12w G5 N1 2650IMED1 M1Gx 110 25  NMAG110DINEI1

MT x B0 100 MPG0DINSS1 W12 w70
MAEH 30 100 MEI0DINSST W12 75
Mg x 35 100 MEISDINS 12« B0
M8 x 40 100 MEL0DIMSI ff12 x B0
B x 45 100 RB45DINSGE1 M2 % 100
MAE B0 100 MESODINSST W12 110

M1 2F0DING31 M1Gx 120 26  MIG120DIN931
M1 27SDING51 MiGx 130 10 MIE130DINSGT
N1 280DIMNED1 M1Gx 140 10  MAG140DIN9I1
N1 290D1ME31 M1Gx 150 10  MAG150DIMN931
MA00DINGST  MiGx 160 10 MIS160DINGG1
MAHA0DING3D  MIGx 170 A0 RHEITODINGI

M8 x 55 100 MESSDIMS R12 0 120 M121200dM031 M16x 180 10 NAGTE0DIMNO31
8 = 60 100 MEGODIMSM R12 0 1350 RM121300dMN031 BM16x 190 10 NAG190DIMN931
ME x 65 100 MEGSDINSST W12 % 140 MIA40DINGTT M6« 200 10 MAG200DINS3
mMax 70 100 METODIMSI 12 150 M121500IN031 M16x 220 10 NAGZ20DIM931
MEx 75 100 METSDIMSM R12 0 160 M12160DINO3T  M16x 240 10 NAG240DIMN931

ME x B 100 MEBODINSST M2 % 170
ME x B0 100 MESODINS31 W12 180
MEx 100 100 MET00DINS31 W12 % 190
MEX 110 100 METI0DINSS W12 % 200
M8=120 100 RKIE1200MM931 12 220
8= 130 100 RKIE1300INS31 12 240
MEx 140 B0 MET40DINS31 W12 w260
f8 = 150 50 MB150DIMOM Ml 14 2 45
8= 160 50 ME160DIMA Ml 14 2 50
MAGx 35 100 MI03SDINGS31 14 % 55
MAG x40 100 MI1040DINS31 K14 x50
M1 x45 100 KI104SDINS31 Ml 1 G5
M10x 50 100  KI10S0DINS31 R4 x 70
MAGxBS 100 MI10SSDINGS31 W14 % 75

MIAFODINGT MG« 260 10 MIG260DINS3
RMIA20DINGFT  MiGx 280 10  PMIGZEODING3A
MINS0DINGT  WM1Ex 300 10 MIG300DINS3
MA1Z200DINSST  M18x 60 25 MEs0DINGI
K122200IN831  M1BxTD 25 NHETODIMNO3N
K122400IN831  BM1Bx 80 25 NHERODIMNO3N
M1Z260DINGST  M18x 80 25 MEg0DINGI
K1 4450ING31 M18:x 100 25  NAS100DIN931
KI14500ING31 M1g:x 110 10 NAST10DINGI1
M145501N931 Migx 120 10 MIS120DINS31
R146001MN4951 Migx 130 10 MIS130DINS31
KI14650ING31 M18:x 140 10 NAS140DINO31
K1470DINGT1 M18:x 150 10  NAS150DIM931
M14750INGS31 Migx 160 10 MIS1G0DINGI 1

S SRR NEE 858888888

Continued on the next page.....



Metric Bolts DIN 931 Metric Bolis

Continued.....

METRIC Bolt 8.8 Strength - ZINC [DIN 931)
Supplied in PACK quaniities

oy Luneer B L'ary | noveee f oo
ET"Ir NUMBE nT'r NUKBER ET'I" MBER

P18 x 180 mnmmm W20 200 M2O00DINSST  M24 5 120 IMIH 20DIM931
M1 E 200 ‘IEI MIE200DING3T  M200x 220 10 M2OZ20DINGST  M24 5 130 1D K241 300N SS1
M18x 220 10  KIE220DINGD RM200x 240 90  K20240DIMEI 24« 140 10 NEA140DINOI
RM18x 240 10  KNME240DINEI1 M20x 260 190  K20260DIMNGI 24« 150 10 NEA1S0DIMNO3M
MAEx 260 10 MIE260DINGST  M20x 280 10 M20ZB0DINS3T M24x 160 10 MRA1G0DING3T
MAEx 280 10 MIE2B0DINGST  M20x 300 10 M203000INS31 M24x 180 10 MR4A1B0DING3

M20x 60 25 M20G0DINS31 M22x 70 10 M2IFODINGGT M24x 200 A0 MR24200DINSST
20« B5 25 M206500M T M22 x B0 0 nM22E0DINGI1 24w 220 10 NRAZ20DINOIM
M20x 70 25 M20F0DIMOM R22 x B0 0 nM2200DINGI1 24w 240 10 NERA240DINOIN
M20x 75 25 M2OFIDINGI M22x 100 10 MZM00DINGIT  M24x 260 10 MR4260DIN9SGT
M20x B0 25 M20B0DINS31 M22x 110 10 MZI10DINSST  M2Tx 100 10 MEFI00DINGSG1
R 20 80 25 M2090D0MM M22x 120 10 KREM20DINGIT  M2Fx 40 10 NEF140DIN931
M20x 100 25  K20100DIMGE31  M22: 930 10 M22130DINO3T M27x 160 10 NEF1G0DIMO931
M200x 110 25 M20110DINS3T M22x 140 10 MZIMO0DINGIT METx 200 B MRTI00DING3
M20x 120 25 M201200INS31  M22x 160 10 MZAE0DINSIT METx 240 B MRFI40DINGI
M20x 130 10 KE20130DIMG31  M2Z2: 980 10 NM22120DINO3T  M27x 260 25 NE2F2E0DIN931
M2 w140 10 M201400IN931  M24x 70 10 M2470DINGG1 M30x 100 & MEOI00DINGGT
M2Z0 w150 10 M201500IN931  M24x80 10 M24800IN951 MI0x 120 & MIOT20DIN9S31
M20x 160 10  K20160DIMS31T W24 B0 0 NM2490DINGD1 MiDx 140 & NO0140DIN 931
M20x170 10 KER20170DIMGIT  M24:x 900 10 NM24100DINO3T  M30x 160 5 MO0 G0N 931
M20x 180 10 M20180DINS31T  M24x 110 10 M241M0DIN931 M0« 200 B ME0R00DING3

METRIC Bolt 8.8 Strength - BLACK [DIN 331)

Supplied in PACK quaniities
ET'I' NUNBER nn' MBER

B w &0 ME40DINSTTE B0 50 mmm:ﬂa

MAE x B0 2'3- MESODINGGTE B0 60 25 B 060DINS 1B
Mg« 80 25 MESODINEME E10x 70 25 NA0FODINOIIE
Mg x 70 25 METODINEME E10x 8D 25 NA020DINOTIE
MEx100 25 ME100DINSZIE  M10x80 26 MI0S0DINGTIE

R0 40 25 MiMODINGI1E
Alss avalikble In 108 Strength Just replace DIM with 108 e.g. ME401095931B

METRIC Bolt 12.9 Strength - ZINC {DIN 331)

Supplied in PACK quaniities
_ PACK| PART
nn‘ NUNBER

I o 500 Ra1 060129931
W12 x 85 1285129931
M1 0 25 RM1670129931
M6« BOD - 1680129931



Imperial Bolts DIN 931 Imperial UNC Bolts

IMPERIAL Coarse Thread UNC Bolt 8.8 Strength - ZINC (DIN 931)
Supplied in PACK quanfities

'i.o—"
R i PN il
Irechy TYPE ET"Ir GT'I"
=114 HT4UNCEIT 12xd LM 124UNCE31
14112 Ll"-lf‘.- ED 14112UNCE3H 1/2x41/2  UNC 50 12412UNCA31
Thaw 134 LG B0 1134UNCEN 2% 5 LIMC a 12SUNCEN
14w LC B0 142UNCE31 1/2x 8 UNC 50 126UNCEI
w212 LR 50 MMHAZUNCEN BMEx2 LM 25 HE2UNCEI
a3 LR 50 14IUNCEIT BMExZ 12 UNC 25 HE212ZUNCE
BEx1 14  LWC B0 S16114UNCET 8Mex3 UNC 26  SGIUNCII
BEx112 LWC B0 S16112UNCE3T Sfax2 UNC 26  SEAUNCHI
GMEx134 NG 50 HETMUNCII SBx21M LM 25 SEZTAUNCEI
SMEx2 LR 50 HE2UNCEI SBx 2172 LM 25 SEMZUNCEI
BHEw21Md LWC B0 S16214UNCH31 SMEx234  UNC 26 SEIZMUNCEIN
BEw212 WC B0 S16212UNCH31 SEx3 UNC 26  SESUNCHI
GMEx314 NG 50 HEITAUNCEIT SBx31M LM 25 SEMAUNCEIT
BEx312 LWC B0 S16312UNCH31 SEx312 UNC 26 SEIAUNCEI
BG x4 LC B0 S164UNCOETY w4 UNC 10 S84UNCHI
R T LR 50 I1TMUNCEN SBx 412 LM 10 SBH12UNCE3
0 LR 50 JEAUNCEI DBx 5 LM 10 SBSUNCEI
WEx2i4  WC B0 3EN4UNCHN SExe UNC 10 SBGUNCH3
w2102 LG B0 3EMIUNCEN S8x7 UM 1 SEAUNCS31
Bx 234 NG B0 3EZIUNCEH Saxa UG 10 SEBUNCEI
Wax 3 LR 50 JEIUNCEIT w2 1M4 LM 10 H214UNCEIT
Wx3INZ IMC B0 3EFNUNCHN Mx212  UNC 10 H2UNCE
Agx4d LR 50 JBAUNCEIT Ao 2 3 LM 10 HZMUNCEI
x4 12 LR 50 IEM2UNCEN w3 LM 1 HIUNCEH
¥Bxb LG B0 3ESUNCEZN M4u31M4  UNC 10 H34UNCEI
Mex112 NG B0 T16112UNCA3 M4x312  UNC 10 H312UNCEI
MEx134 NG 50 TIETMUNCS3 x4 LM 10 HAUNCEH
MEx2 LR 50  TIG2ZUNCEI w4172 LM 10 HM2UNCEIT
MEx21M4 NG B0 T16214UNCH31 Mu b LNC 10 HMSUNCHI
MExn212 NG B0 T16212UNCH31 M4u 6 LINC 10 MGUNCHI
MEx234 NG 50 TIEZMUNCO3 Adx T UM 10 HTUNCEI
MEx3 LR 50 TIEIUNCEI Adx B LM 10 HEUNCEI
MEx31R2 NG B0 T16312UNCH31 Tax3 UNC 10 TESUNCHI
2= 1354 LR 50 121MUNCEN TBx 312 LM 10 FEM2UNCEI
WZx 2 LR 50 122UNCE3 x4 LM 10 FRAUNCE3
12x214  LWC B0 1Z4UNCH Tax s UNC 10 TESUNCHI
2w 2112 T B0 1ZHAUNCHN 1x3 UNC 10 13UNCEI
12x234  LWC B0 12234UNCHI 1x3112 UNC 10 1312UNCEH
112x 3 LC B0 123UNCE31 1xd UNC 10 MUNCei
2= 314 LR 50 12ZHMAUNCEN 1x6 UM 10 16UNCEH
V2= 312 LR 50 12ZM2UNCEN 114 =8 UM 10 T148UNCE



Imperial Bolts DIN 931 Imperial UNF Bolts

IMPERIAL Fine Thread Bolt 8.8 Strength - ZINC (DIN 931)
Supplied in PACK quanfities

'i.o—"

R i P2 il
Irechy TYPE ET"Ir GT'I"
=114 A TT4UNFE3T 2= 3 LMF 12IUNFa31
14112 Ll"-IF 25 14112UNFI31 1/2u3144  UNF EE- 123 4UNFIGT
Thaw 134 LEF 25 1134UNFIN 2% 3102 LINF 25 12N 2UNFEN
14w L F 25 142UNFE31 1/2x 4 LINF 26 124UNF931
w212 LIMF 25 MAZUNFEN 1V2x 4172 LMF 25 1212UNFIN
a3 LIMF 25 T4IUNFEIT 12x s LMF 25 125UNF93
14na L F 25 144UNFE31 1/2x 8 LINF 26 126UNFI31
BGx1 1M LNF 5 S1I61MMUNFI Qe x2 LINF 26 SGRUNFI
GMEx112 IWF 25 MET12UNFI3 BMExZ 12 UNF 25 HE21ZUNFI31
GMEx134 LWF 25 METMUNFI3 BMEx3 LMF 25  S6IUNFI
BM6x2 L F 5 S162UNFOT =L LINF 26  S1GIUNFI
BEw21Md  LMF 25 S16214UNF931 Sfax2 LINF 26 SEUNFII
GMEx212 IWF 25 MEZ12UNF31 SBx21M LMF 25 SEZTAUNFEI
BM6x3 L F 5 S163UNFOTT SEx21/2  UNF 26 SEI1IUNFEI
BG x4 L F 25 S164UNFOTT SEx234  UNF 26 SEZIMUNFEI
L LIMF 25 BET2UNFIN DBx3 LMF 25 SBJUNFSI
R T LIMF 25 B1MUNFIN SBx31M LMF 25 SEMAUNFIN
WBx2 L F 5 3EIUNFEIT SBx31/2  UNF 26 SEIIUNFEI
HEw 21 L F 25 3EM4UNFIN 58w 4 LUNF 10 SR4AUNFI31
212 LMF 25 3ENUNFIR SEx412  UNF 10 S8412UNFE31
Wax 3 LIMF 25 IBIUNFEI DBx 5 LMF 10 SBUNFO31
WBxINZ IMF 5 FEFUNFIR SEx51/2  UNF 10 S8512UNFE3
Agx4d LIMF 25 IBAUNFE31 SBxE LMF 10 SB6UNFO31
MEx114  LWF 25 TIETHUNFII SBxT LMF 10 SETUNFS31
MEx112 LNF 5 TIENM2UNFIT Saxe LINF 10 SEBUNF931
THEx2 L F 5 TIGUNFOT I4x 214 UNF 10 H214UNFE3T
MEx214 IWF 25 TIE21T4UNF931 w2172 LMF 10 H21ZUNFI
MEx212 INF 25 TIE2Z12UNF931 Ao 2 3 LMF 10 HZMUNFIN
MEx234 LNF 5 T16234UNFI31 Mu 3 LINF 10 343UNF931
THEx 3 L F 25 TI63UNFOT I4u 314 UNF 10 H314UNFE3T
MEx312 IWF 25 TIEM2UNF31 w312 LMF 10 HMZUNFIN
B x4 LIMF 25 TIEUNFI x4 LMF i HAUNFEI
THEx G L F 5 T165UNFa3T 4u41/2  UNF 10 H412UNFER
2= 112 LIMF 25 12TZUNFEN x5 LMF 1 HUNFII
2= 1354 LIMF 2 121MUNFEN L LMF 10 HI12UNFIN
112u2 L F 25 1ZUNFEIT M4uE LINF 10 S46UNF931
1w 2imM L F 25 1ZN4UNFIN 1x3 LNF 10 13UNFEI
12x212 UWF 5 AZNUNFIR 1xd LINF 10 M4UNFIR
12x234  LNF 5 1ZE4UNFIR 1x86 LINF 10 15UNFa31



Set Screws DIN 933 Metric Set Screws

METRIC Set Screw 8.8 Strength - ZINC [(DIN 933)
Supplied in PACK quanfities

Also available in Siamiess Steel Just replace DIM with RVS e.g. MBB0IRV 5933

Also avallable in 109 Strength Just replace DIM with 109 e.g. MEE0109933

EEI- EFlE T R

QTY | NUMEE ET'I' NUKNBER l:!T'l" MBER

M3x 6 hl:]ﬁl:lhlm W8 x B0 RMEG0DINSID B16Ex 20 M G20DIMNG33
M3 x 10 1EIJ RI3100ANG33 MB x 70 1|ZUZi REFODING33 Migx 25 50 M G2 50ING 33
Mix B 100  NWHEDING33 ME x BO 100 MEBOIDINGS33 M16x 30 S0 MHEI0DING33
i w10 100 RM410DINGGS ME x S0 100 RMESODINGES Migx 35 S0 WMIB3SDINGIS
Rid x 16 100 N416DIM9ID 8 x 100 100 ME100DINGI3 B16E x 40 S0 N G40DINGI3
Rid x 20 100 N4Z20DIM9ID h8x 120 100 ME120DINGI3 BT x 45 S0 NAG4SDINGI3

M 26 100 R425DINSES MAGx 12 100 M1020INS5S M16x 50 S0 MAGS0DINGGS
Pt o 30 100 R4I0DINSES MAGx 16 100 MI1MBDINGGS M16x 55 S0 MGSSDINGGS
R4 x 35 100 N435SDIMSID R0 20 100 [M1020DINED3 B« &0 S0 NHGGODINGID
R x 40 100 N440DIM9ITD R0 25 100 [M1025DINGD3 BTG x G5 25  NHG6SDINGI3
MG« 10 100 RS10DINSES MAGx 30 100 M1030DINSGS M16x 70 26  MAGFODINGGS
MEx 12 100 RS12DINSSES MAGx 35 100 M10350DINGGS MiGx 80 26  MIGRODINGGS
MG 168 100 M51600M9XD R 10 40 100 M1040DINGEDS BTG« B0 25 NHG90DINGI3
MG x 20 100 MS20DIN9ES MAGx 45 100 M14SDINGGS MiGx 100 26  MIS100DINSSS
MBx 26 100 MS25DIN9E3 MAGx 50 100 M10S0DINGGS M1Gx 120 26  MIG120DIN9SS
MBS x 30 100 MEI0DIM9ID 10 55 100 M1055DINGDS M1Gx 140 - M 61400IN 933
MBS x 35 100 ME3ISDIMSID R 10 &0 100 [1060DINGD3 M1Gx 150 - I 61 500IN 933
MG x40 100 MS40DIN9ES MAGx 70 100 M10FODINGGS M18x 30 26  MIE30DINGGS
MB x B0 100 MSS0DINS33 WA« 80 100 WM1020DING3S M18x 35 26 N1E3SDING3S
M& x 10 100 ME10DING33 Midx80 100 M1090DING33 MiBx4d 26 M1S40DINGIS

Mg 12 100 NE1200M90 10 100 100 KICIDODIMGIY  B1Bx 45 25 NAB4SDINGI3
MG x 16 100 RIG16DINSES MAZx 16 100 MI6DINGGS M18x 50 26  MIES0DINGGS
MMEx 18 100 NME130IM9ID M1Z2x 20 100 KI1220DING33 M18x 55 25  NHE5SDINGI3
MG x 20 100 ME2ODIM9IXD 1225 100 KI1225DING33 k18« &0 25 NHEG0DINGI3

MG x 26 100 RIG2SDINSES MAZx 30 100 M1230DINGGS Mi1gx 80 26  MIER0DINGGS
MG x 30 100 MGI0DINSES MAZx 35 100 M12350DINGGS M20x 30 26 M2OI0DINGGS
MBE x 35 100 MEISDIMSID 12 x 40 100 [1240DINED3 BA20 e 55 25  N2OISDINGID
MG x 40 100 e 0DIM9D M2 45 100 [1245DINGD3 B0 40 25 N2MODINGI3
MG x 45 100 RI64SDIN9ES MAZx 50 100 M1250DINS5S M20x 45 26 M2OSDINGGS

MG x GO 100 MGS0DINSES MA1Zx 55 50 M1255DING953 M20x 50 26  MROSODINGGS
MB x 55 100 MESSDIMSID 12 x &0 S0 M1260DINGD3 BA20 x 55 25 N20SSDINGI3
g = B0 100 NMEG0DIM9)D 12w G5 S0 M1265DINGDT BA20 x B0 25 N2OGODINOI3
MG x 7O 100 RIGTODINSSS MAZx 70 50 M1ZFODINGGS M20x 70 26  MROFODINGGS
ffE = 80 100 MEEODIM9ID 12« B0 50 M1230DINGD3 B20x 8D 25 N20B0DINOGI3
M7 x 20 100 MF20DIM9ID ff12 x B0 S0 M1290DINGD3 BA20 0 B0 25 NE209ODINGI3
MAT 30 100 MFI0DINSSES M1Zw 100 50 MIZ100DIN933  M20x 100 26 MROT00DINSGS
Mg w10 100 ME10DINS33 MAZx 140 S0 KM1240DINS3F  MZ22x 50 10 MEZS0DING33
B« 12 100 R8T 2DINSES MA4x 20 50 M1420DIN933 Mz2x80 10 NE2IGODINGII
M x 16 100 MB16DINSSES MA14x 25 50 M1425DIN953 M2« 70 10 NEZFODINGII
3= 18 100 ME130IM9ID ffl 144 2 50 50 M1430DINGD3 B2 40 10 NE2AODINGI3
Mg x 20 100 ME2ODIM9ID ffl 14 2 55 50 M1435DINGD3 B2 50 10 N24S0DINGI3
MAE x 26 100 ME2SDINSES M14x 40 50 M1440DIN953 Mz4w80 10 NR2460DINGII
hi8 x 30 100 MEIODIMOID Ml 14 2 45 50 M14SDINGDS B2 B5 10 N24ESDINGID
m8 x 35 100 MEISDIMSID Ml 14 2 50 50 M1450DINGD3 B24 7O 10 N24FODINGI3
IE A0 100 MB40DINSES M14x 55 50 M1455DIN933 Mz4x80 10  NR24BODINGII
B x 45 100 R84 SDINSES MA14x 60 50  M14600IN955 M24x 100 10 MR4100DINSGS
h8 x 50 100 MESODIM9ID Rl 14 BO 50 M1430DINGD3 B30« B0 5 NO0E0DIMNGID
M8 x 55 100 MESSDIMSID f14x 100 50 KI4A100DIMG3Y B30« 8O 5 NOOE0DIMNGID



Set Screws DIN 933 Metric / Imperial UNC Set Screws

METRIC Set Screw 8.8 Strength - BLACK {DIN 933)
Supplied in PACK quanfities

Also gvaitable in 109 Sfrength Just replace DIM with 109 e.g. M5421000338
PART PACK | PART FACK
l:tT"l’ NUMEBE ET'I' NUKNBER l:!T'l" = -|
hid = 8 Each nusnmmau MBE x 25 MEZ50INSIIE b3 x40 H'IHI]DI"I‘J:]:!B

M2x12  Each NW412DINS33B M« 40 Ellth MG40DINSISE ME % 25 Eat:l'l ME4ASDING3IIE
Mdx 16  Each MA1EDINSIZE ME w45  Each MESSDINSZIE MExTD  Each WNEBTDDINS33B
Maw 28 Each NW4ZSDINS33E MEx B0  Each RMES0DINSIZE Mi0x 16  Each MIOGDINGISE
MG 12 100 K51 2DIN93IE MGx B0  Each KGEODINSIIE M10x 80 Each NA0GODINGIIE
MGx 20  Each K5S20DINOIIE MGx 70  Each KGFODINGIIE M10:x 100 Each KAMOODINGZIE
ME x 26 100 MS2SDINS33E MEx B0  Each RMEB0DINSISE Mi2x 16 100 AMAIZ1GDINGISE
MEx 4D  Each RS40DINS33E MEx 100 Each ME100DINGGIE M2« 50 Each M1230DIN933E
MEx 10  Each KG10DINOIIE WS 16 100 KIE160DINSIIE M12Zx 55 Each N1255DINGIIE
WG 12 100 K961 2DIN93IE M@x20  Each KMEZODINGIIE M1Zx 80 Each NA260DINGIIE
MG x 16 100 ME16DING33E ME x 25 100 ME2SDINSIIE

MG x 20 100 ME2ODINS33E ME 35 100 MEISDINSIIE

IMPERIAL Coarse Thread Set Screw 8.8 Strength - ZINC (DIN 933)
Supplied in PACK quaniies

MR FENE i
TI"F'E ET"I' GT'I"

14k 112 1412UNCe33 12x T8 LN 127EUNCOGS
14 v B8 Ll"-I'E E-EI 1458UNCI33 1H2u 1 LINC 50 T21UNCI33
164 = 34 LG 50 1MMMUNCEI] 12x 1184 LIMGC a0 12114UNC933
104 x 718 L 50 M47BUNCEID 12x 1152 LIMGC a0 1211UNC933
14 LG B0 141UNCHES Maxi LN 25 MEIUNCIS]E
BeGx 172 LG B0 S1612UNCA33 aHEx1 14 UNC 25 SE114UNCIES
S5M6x 58 LRC 50  H1858UNCOI3 ArEx1 12 UNC 25 ¢6112UNCOID
SMB w34 LG 50  HMEMUNCOII3 ArEx13d  UNC 25 METHMUNCEIT
BHEx T8 LmC B0 S16TEUNCH3I SEx 1 LINC 25 SEIUNCY33
SMBax LRE 50 HSIUNCEI] S8x 1144 LIMGC 25 S 114UNCO33
HE 12 LC B0 3E12UNCHII SExi12 UNC 25 SENMIUNCE33
8 x 54 LG 50  2ESEUNCHID S8x 130 LIMGC 25 S1MUNCEDY
A8 x A4 LG 50 IEMUNCHI] Adx 1102 LIMGC 10 HMITUNCYID
Hex TE LmC B0 JETAUNCHI3 4x134  UNC 10 3H134UNCETS
HExA LC B0 3EIUNCH3I w2 LINC 10 HIUNCI33
=114 LG 50  2E114UNCETD TAx2 LIMC 10 TERUNCO3D
mx112 LG 50  3E112UNCETD TrAx 2152 LIMGC 10 FE212UNCOR3
TG 3a LC B0 T1634UNCI33 1x2 LINC 10 12UNCI33
TMEx LG 50  TI61UNCEID 1x2112 LIMGC 10 1212UNC9I
12 34 LG 50 12MUNCEI]



Set Screws DIN 933 Imperial Set Screws / DIN 960 Metric Thread Bolts

IMPERIAL Fine Thread Set Screw 8.8 Strength - ZINC (DIN 933)
Supplied in PACK quanfities

PACK | PART NUNBER PACK | PART NUMEBE
I'tI::h TI"F'E ET"I' GT'I"

164 5 12 14 12UNFEI33 Mex1 LINF T161UNFIEd
12k &8 LNF ED 1453UNFII3 12x1 LINF 5D 121UNF933
164 % 34 LRF B0 14HUNFR33 1W2x 1184 LNF S0 12114UNF933
141 LIF B0 141UNFE33 2x 1172 LINF S0 12TZUNFI33
GMGx 142 LRF 50 51612UNF933 arex11M4 UNF 25  E114UNFI33
516 x 508 LRF 50  5165BUNF933 8MEx11/2 UNF 25 E112UNFI33
BHGx 34 LIF B0 H1634UNFII3 S 1184 LINF 26 SENM4UNFO33
BHEx LIF B0 S161UNF933 S 1172 LINF 26 SENM2UNFI33
imgx 1z LRF 50  IE12UNFI33 SEx 134 LIMF 25 S31TMUNFEII
38 x 58 LRF 50  IE5EUNFII3 w1152 LIMF 10 HM1TUNFI3I3
Bx7H LIF B0 3ETEUNF933 w13 LINF 10 H134UNF33
IEx LIF B0 3EIUNF933 w2 LINF 10 HIUNF933
gx1 1M LRF 50 IEB114UNFEII TEx2 LIMF 10  TEZUNFO33
THEx 34 LIF B0 T1634UNFI33

METRIC Fine Thread Bolt 8.8 Strength - ZINC {DIN 960)

Supplled in PACK guantifies

Also available in 10Y Srength Just replace NN wath 102 e.g. MES0108860

I'lil‘l} 'ﬂT'I"

ME w1 w0 B0

M0 a1 w40

M0 <1 x50

M0 =1 x50

Ml 1,26 x50
M12x1.25x50
M12x1.25x 80
M12 x1.26 x 80
M2 x 1 .6x B0
M12x1.5x 60
MA2x1.6x 70
M12x1.5x 80
M12x1.5= 100
Mi2x1.6x120
M1d x 1.5 x 50
M1d x 1.5 x 80
M4 %1 .6x 70
M4 % 1.6x B0
M1d x1.5x 80
M4 = 1.5 = 140

EE-
25
25
25
25
25
26
26
i)
26
25
10
10
10
10
10
10
10
10

MESODINSGD
BT ODINS B0
NHDS00DING 60
NHOEODING G0
W10 2550960
N2 12550960
M121 2560960
M1 2580960
KT 2S00INA G0
MT2E0DINS G0
B 27 ODINA G0
N 2B0DING G0
N1 000N 960
B2 20 DN 960
N1AS0DING 60
NAGODING G0
M4FODINS G0
R4 800INS G0
NAQ0DING 60
M4 140DIN 960

10

GT'I"

M'IE:('I Bw el
W16 x1.6xT0
16 x1.5% 80
M16x1.5% 80
W16 x 1.6 x 100
M1 x1.5x 110
M1Gx1.5x 120
M6 x1.6x130
W16 x1.6x 140
K18 x 1.5 x B0
W18 x1.6xT0
M18x1.5x 80
M18x1.5x 80
W18 x 1.6 x 100
M18=x1.5x120
M2Dx1.5x 70
M200x% 1.6 x B0
M200x% 1.6 x 90
20 x1.5% 100
M2Dx1.5x120

1D
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10

M GEO0HMN 960
BEFODIMN 960
MHEE00DIM 960
MHE90DIM 960
K61 00 DIN 960
MHE110DIN 060
NG 200N 960
K61 30DIN 960
K61 400N 960
K BGODIN 960
RETO0IMN 960
M 2300DIM 960
N 2900DIM 960
RS 00DIN 960
NHE12000MN 960
ME20F 0DIM 960
M20200HMN 960
M20200HMN 960
INE201 DODIMN 960
201 200N 960



Fine Thread Bolts DIN 960 Thread Bolts / DIN 961 Set Screws

METRIC Fine Thread Bolt 10.9 Strength - BLACK (DIN 260)

Supplied in PACK quanfities
P 5
QT

W14 x 1,6 %45 B M445DIN9G0E
M4 x 1.6 50 B M4S0DINSGOE
M1 1.5 70 25 NT0DIN9G0E

METRIC Fine Thread Set Screw 8.8 Strength - ZINC (DIN 961)
Supplied in PACK quandities

Alzo avallable in 109 Strength Just replace DIN with 109 e.g. ME20109961

[ EE N 5
'GT'I" GT'I"

Mg 1w 20 MEAIODINSET W14 % 1.6x 35 MI4350IM 961
M8 x 1 x 30 25 MEIODINGG1 i1 1.5 40 N4 00N 961
A8 2 1 40 25 MB0DIMNGG1 14 1.5 x 45 1!] N4 SDIN 961
MG 1 w30 25 MMO30DINSET M14x1.6x 60 10 M4S00IN961
M0 1,25 o 20 25 M0 2520961 MAGx1.6x 25 10 MNE2S0IN9E1
W10 1,25 % 30 25 M 2530961 M16x1.5x 30 10 NIG3I0DINGET
M10x1.26 x40 25 M0 2540961 M16x1.6x35 10 M16350IN961
M2 % 1,26 x 30 25 MM12530961 W16 % 1,540 10 ME400IN961
M2 w126 x40 25 MM212540961 W16 % 1,545 10 ME4350IN961
M12 2 1.25 x 50 25  NH212550061 M6 1.5 % 50 10 NHGSODIM961
M12x1.5x 25 25  NH225DINGE1 M18 1.5 % 35 10 NHEISDIM9E1
MAZ %1, 6w 30 25 MM2300DIN9ET ME % 1,540 10 ME400IN961
M12 1.5 40 25  N240DIM9E1 M18: 1.5 % 50 10 NHESODIM961
M12 2 1.5x 45 25  N1245DIMNOE1 W20 1.5 x40 10 NE2GODIM9E1
M14x1.6x 26 10 M4250INSET M200x1.6x B0 10 MROS00IN9E61
M4 1 Bow 30 10 M4300INSET W20 1.6 x 80 10 MROG0DIN9ET

METRIC Fine Thread Set Screw 10.9 Strength - BLACK (DIN 961}

Supplied in PACK quantiies
e
mim aTy

W14 % 1.6 245 E 0 MN415459611098
M8 x 1.5 35 25 NA615359611098
M16x 1.5 x40 25 NAG15409611098
MG« 1,6%45 B MNE15459611098
Migx 1.6 50 E ME1550961 1098
M16x 1.5 % B5 25 N615659611098

1"



Allen Head Bolts DIN 912 Allen Head Bolts

Allen Head Bolts 8.8 Strength - ZINC (DIN 912)
Supplied in PACK quanfities

Also avadable in Sanless Stesl Just replace DIN with BVS e.g. MA4ERW 5912
Also gvailable in 10,9 Strength Just add on 109 e.g, M4EDING42100
Alss avaikable in BLACK 129 Strength Just add on 1288 e.g. M4BDINS12129B

PART PACK | PART PACK F:ART
IET"Ir NUMEE E‘I"lr NUKBER nn' MBER

Mixg hH-EI:IHHI Mg 70 MEFODINGT2 B0 B0 H'III]’QI[I:FIH'ME

e w10 2'5 ha4100INa12 MG w B 2‘5 MAGE0DING12 B0 100 1D B 01 00DINST 2
M 12 25 MA1IDINS12 WM& w B0 25 MES0DINS12 MA0w 110 10 MA0T10DING12
Wi 16 25 MA16DIN912 MEx100 25 ME100DINGT2 MA0x 120 10 MAIOT20DINST2
hid » 20 25 M420DIM912 i3 =10 25 ME10DIMG12 B2 x 20 10 NAZ20DIMNG12
hid x 25 25 hM425DIM912 Mg« 12 25 ME12DIMG12 B2 x 25 10 NA225DING12
M 35 25 MA3SDIN912 B w16 25 ME1EDINS12 M12x30 10 NAZ30DING12
Pt o A0 25 MH40DIN912 MAE w20 25 ME0DINS12 M12x35 10 NIZ3ISDING12
R4 x 50 25 MA5S0DIM912 3 x 25 25 MEZSDING12 B12 x40 10 NA240DdMNG12
MSx 8 25 M3EDING12 8« 30 25 MEJODIMNG12 B2 1w 45 10 NA245DING12
MG« 10 25 M310DIN912 MB35 25 ME3ISDING12 M12x50 10 AH2Z50DING12
MEx 12 25 M31IDING12 MAE w20 25 ME40DINS12 M12x80 10 NIZ60DINGT2
MG 168 25 M316DIM912 M8 x 45 25 ME4SDING12 E12x 70 10 NAZFODIMNG12
MG x 20 25 M320DIN912 ME w B0 25 MESODINS12 M12x80 10 NIZRODING1Z
MBx 26 25 M325DIN912 MAE w60 25 MES0DINS12 M12x80 10 NIZ90DING12
MBS x 30 25 MEI0DIM912 i3« 70 25 METODIMNG12 E12x 100 10  MA2100DIM912
MBS x 35 25 MEISDIMN912 3 x 80 25 MESDDIMG12 M12x 110 10  MA2110DING12
MG x40 25 MMMODINg12 MAE o S 25 MEI0DINS12 Mi4x25 10 ANI425DING12
ME x 45 25 M5DINS12 ME x 110 . RE110DINST 2 B4 w0 40 10 Mi440DINS12
ME x 50 25 MS50DIN912 MEx120 25  ME120DING12 Mi4x50 10 AMM450DING12
M5 x B0 25 MSG0DIM912 M8 x 150 25 ME130DING12 B14 x BO 10 NA430DING12
ME x 65 25 MSGSDIN912 B w140 - MEW0DING12 M4 1000 - K4100DINS1 2
MSx 7O 25 M5STODIM912 8 x 160 - RME160DIMNGT 2 BT x 50 10 NAGE3I0DING12
MBS x 30 25 ME0DIM912 8 x 180 - RME130DIMNG1T 2 B16E x 40 10 NAG0DINGT2
M 10 25 ME10DIN912 MAGx 16 25 MIEDINGT2 Migx45 10 AIB4SDINGTZ
MG x 12 25 ME12DING12 MAGx 20 25 M10200IN912 Migx50 10 NIGS0DING12
MG x 168 25 ME16DIM912 R0 25 25 M1023DING12 B« &0 10 NAGGODING12
MG x 20 25 ME2ODIM912 R 10 2 50 25 M1030DIMNG12 MG x 70 10 NAGFODING12
MG x 26 25 ME25DIN912 MAGx 35 25 M1035DINGT2 Migx80 10  NIGRODING1Z
MG x 30 25 MG30DINS12 MAGx 40 25 M1040DINGT2 Migx80 10 NG20DING12
ME x 35 25 MEISDIN912 R0 45 25 M15DINGT2 B1Gx 100 10  NAG100DIMNS12
MG x 40 25 Mel0DIM912 10 50 25 M1050DING12 B0 40 10 NEODINGT2
MG x 45 25 MB45DIN912 MAGx B0 25 M1060DINGT2 M20x50 10 NEZOSODING1Z
M x 50 25 MESDDIM912 10 G5 25 M1063DING12 B20 x B0 10 NE2OGODING12
MB x 55 25 MESSDIM912 R0 70 25 M1070DIMNG12 E20x 70 10 N2OFODIMNG12
MG x B0 25 MGE0DINS12 MAGx 80 25 M1080DINGST2

Allen Head Bolts 12.9 Strength - ZINC (DIN 912)

Supplied in PACK quaniiies
m PACK | PART NUMBER
aTy

MG x 35 25 MG3ISDINS12129
M12x 150 25 K12150DIMG12129

12



Allen Head Bolts DIN 912 / DIN 7991 Allen Head Bolis

Allen Head Bolts 8.8 Strength - BLACK [DIN 912)

Supplied in PACK quanfities
m PACK | PART NUMBER
aTY

MG w20 25 ME20DINS1ZE
Mi12x 45 25 M145DIN9TZE

IMPERIAL Allen Head Bolts - ZINC {DIN 512)

Supplied in PACK quantibes
Hm:h'i I'l'

HEN] 1M 128 JETT4UNCII2129
AMx1 12 L!NC 129 JE1TUNCO12129
L HEx1 LIMGC 129 FIGIUNCO12120
' 12wl s LEMC 128 121 HUNCE1 2129
Sex2 LIMGC 129 SE2UNCO12129

Countersunk Screw 10.9 Strength - ZINC (DIN 7931}
Supplied In PACK quantiies

Also avanlable in Shinless Steel Just replace DIN with BV S e.g. ME316RVS F891

PART PACK| PART PACK
ET"Ir NUMBE nT'r NUKBER nn' --I

MM3x 168 R ﬁI:IH?ﬂ'B‘I Mg« 12 ME12DINTo01 12w 16 H'I'IEIEDIH?QQ‘I

s w16 2“5 R 160INT 281 B w16 2‘5 BT80N 7981 M12x 20 25 B 2200INT 991
M 26 25 MA25DINTee MAE w20 25 ME20DINTI91 M12x 25 26  MZ2SDINT991
R » 30 25 NMAIDDIMToo 3 x 25 25 MEZSDIMNTOO1 B112 x50 25 N Z3I0DINT991
R x 40 25 NMA4D0DIMToo 8« 30 25 MEJODIMTE01 B12 0w 55 25 NAZ3SDINT991
MG« 10 25 M310DINFee MB35 25 ME3ISDINTR91 M12x40 26 M240DINT991
MMSx 12 25 MH12DINTom 8 x40 25 MEJODIMNTO01 B2 x 45 25 N 245DINT991
MG 168 25 MH1EDINTo0 8 x 50 25 MESODIMTo01 B112 % 50 10 N 250DINT 991
MG x 20 25 M320DINTee MAE w B0 25 MEBGODINT291 MA1Z2x 80 A0 W 2E0DINT 991
MBx 26 25 M32SDINTee MAE w B 25 MESODINTI91 MAZ2x 70 A0 MZTODINT 991
MBS x 30 25 MEIDDINToo 8 = 100 25 ME100DINTO91  M12x B0 10 N 2B0DINT 991
MG x40 25 M3MO0DINTee MAGx 16 25 MIMGBDINTSST  M12x80 A0 W 290DINT991
Mg 10 25 ME10DIMTo0 R0 20 25 M1020DINTO91  M12x 100 10 N 2100DINTO01
Mg 12 25 ME12DINTo0 R0 25 25 M1023DINTE91  M14x 50 10 NMA4S0DINT 991
MG x 16 25 ME16DINTee MAGx 30 25 MI030DINTSST  M14x 60 10 MI460DINT991
MG 20 25 ME20DINTee MAGx 35 25 MI03SDINTSST  MiG6x 25 10 MIG25DINT991
MBE x 25 25 ME2SDINTo0 R 10 40 25 M1MODINTO91 MG x 30 10 NAEI0DINT 991
MG x 30 25 MEI0DINTee MAGx 45 25 MIMSDINTGST  Mi6x40 A0 MIS0DINT 991
MG x 35 25 MEISDINTee MAGx 50 25 MI0SODINTSST  M16x 50 10 MIGS0DINT 991
MG x 40 25 MedDDINTo0 R 10 &0 25 Mi10G60DINTO91 MG x &0 10 N GEODINT 991
MG x 45 25 MG SDINTo0 R0 70 25 M10FODINTO91 M1Gx 7O 10 NAGFODINT 991
MG x GO 25 MGS0DINTe9T MAGx 80 25 MIOBODINTSST M6« 100 10 MIS1000IN 7291
MG x B0 25 MGE0DINTe9 MAGx 100 25 MI01000INT291

—
L



Allen Head Bolts DIN 916 Grub Screws

Allen Head Grub Screw 8.8 Strength - ZINC [DIN 9186)
Supplied in PACK quanfities

Also avadablies in Siainless Steel Just replace DIN with RYE e.g, M3IRVE916

PART PACK | PART PACK
QT"!' NUMEE ET"I' NUKBER nn' --I

M3xX HIII:IHHE hMa =10 ME10DINS16 B0 40 III'IHI‘.I:I'IH!1B

M3 K6 2'5 MISDINSIG Mg u 16 '2'5 ME16DINS16 B0 45 25 B 450N 16
M3wb 25 M3BDIN1G ME w 20 25 MEZODING1G MIDx 50 26 NADSODING1E
[LEF - 25 WMHGDING1GE B w25 25 ME2SDINS1G M10x 80 26  MO0G0DING16
WS 10 25 M510DING1G M8 30 25 MEIDING1G M12x10 25 NAZ10DINO1E6
MG x 8 25 MGEDINO1G M8 x 35 25 MEISDING1G M12x12 25 NAZ1ZDINO1G
M 10 25 ME10DINS 16 ME w20 25 ME40DINS16 M12x 16 26  MIGDING16
MG x 12 25 MG 2DINS 16 MAGx 10 25 MI1M0DINGTE M12x 20 26  MAZ20DING16
MEx 16 25 MB16DINO1G Mi10x 12 25  KM1M2DING1G M12:x25 25 NH225DINO1G
MG = 20 25 MBE20DINO1G M10x 16 25  KM1MEDING1G M12:x30 25 NAZI0DINO16
MG x 26 25 MG25DIN9 16 MAGx 20 25 M1020DIN9T6 M12x 40 26  M240DING16
MG x 30 25 MEI0DINS 16 MAGx 25 25 M1025DINGT6 M12x 50 26  MA250DING16
MG x 35 25 MBEISDING1G M10x30 25  K1030DING16

B« B 25 MEEDIN1G MAOx 35 25 M1035DINGTG

Allen Head Grub Screw 8.8 Strength - BLACK (DIN 916)

Supplied in PACK quandities
T 5

MEx & MSSDING16E
M5 x B - MSBDIN G168
M B - MEBGDIN 9168
MG 0,756 x B - MET SE0IN 9168
MEx1xB - ME1EDING16E

LOCTITE® Lock ' N ' Seal - Threadlocking

Locking of Threaded Fasteners up to M36. Effective on all types of metal
threaded fasieners, Prevenis loosening on vibrating paris such as pumps,
motor mountng bofts, gear boxes or presses

Applications:

Recommended for use where disassembly with hand tools is required for
serdcing and where parls are contaminated with il

P1NSF Reg: Mo, 123000

Carified to ANSINSF Standard 61

 DESCRIPTION | PART NUMBER

Lock " N * Seal - 12 x 3ml Blister cand 0103437
Lock " M ° Seal- 12 % 2d4mi Bester card 0103430
Lock " M ° Seal - B0ml Botle 0103438

We stock a complete range of Loctite products,
Ack our Sales Staflf for further details

14



Coach Bolts DIN 603 Coach Bolts

Coach Bolt 4.6 Strength chw Standard Nut - ZINC (DIN 603)
Supplied in PACK quanfities
Also available in Stanless Steel Jus replace DIM with BVE e.g. M5S16RV 5603
Note: Bolt Only Supplied (No Nut)
Also available in 8.8 Strenglh Jus! add on 88 e.g. Ma16DINGD2EE
Note: Bolt Only Supplied (No Nut)

[E' unmer Ry Lo e R Lorvhineen
ET"I' NUMBE NUKBER ET'I" MBER

MEx 16 51 EI:IHHI-'! MEE w25 ME4SDINGOG A0 170 IMNHIDIHHIE

ME w20 E-D 52 0DING03 ME w 50 50 RESODINGO3 A0« 180 EE- A 01 BODINGO3
ME x 26 B0 MS25DINGO3 ME x 55 50 MESSDINGO3 MA10x 200 25  MAO200DING0S
ME x 30 B0 MS30DINGO3 ME x &0 50 MEGODINGOZ MA0w 220 25  MIOZR0DINGOS
M5 x 35 50  M5SISDINGOD hig « B5 50 MEGSDINGID B10x 240 25  NAOZ40DINGOD
5 » 40 50 MS0DINGOD g« 70 50 METOIDINGID B10x 260 25  NAO2GODINGDD
ME x 45 B0 M345DINGO3 ME x 75 50 METSDINGO3 MA10x 280 25  M1O2ZB0ODINGOS
ME x GO B0 MS50DINGO3 ME » B0 50 MEBODINGO3 Mi12x 30 25 M ZI0DINGDS
M5 » B0 50  MSG0DINGOD hdg « 20 50 MEDDINGID B112 % 35 25 WA Z3ISDINGD3
ME x TO B0 MSTODINGO3 M w100 50 ME100DINGOS W12 x40 25 M 240DINGDS
MG x 16 B0 ME16DINGO3 ME % 110 25 METI0DINGDS W12 w45 25 M 245DINGODS
6 x 20 50  ME20DINGOD g = 120 25 ME120DINGD3 k112 % S50 25 N 2ZS0DINGD3
MG » 25 50  MGE25DINGOD fdg = 1350 25 ME1I0DINGD3 k112 % &0 25 N 260DINGD3
ME » 30 B0 MEI0DINGO3 M 140 25 ME140DINGOS M12x T 25 M 2TODINGDS
ME x 35 B0 MEISDINGO3 M 150 25 ME150DINGOS M12x 80 25 M ZE0DINGOS
Rd6 » 40 50  NG40DINGOD fdg = 160 25 ME1G0DINGD3 k112 390 25 N 290DINGD3
MG » 45 50 NG 5SDINGOD fdg = 180 25 ME1S0DINGD3 B12x 900 25  NAZ100DINGOD
ME x B0 B0 MBES0DINGO3 W10 w20 50 M10Z0DINGDS M2« 110 25 MAZ110DINGO3
ME x B5 B0 MESSDINGO M0 25 50 M10ZSDINGO3 M12w 120 2B NAIZ120DING03
MG » 60 B0 MGGODINGOE M40 30 50 MA030DIMNGDS M12% 130 10 MAN30DINGDS
ME x 65 B0 MBGSDINGO3 W10 35 50 M1035DINGOS MA12x 140 10 MIZ140DING0S
M x 7O B0 METODINGO3 W10 40 50 M1040DINGDS M2 150 10 MIZ150DING0S
ME » 75 50  MGTSDINGOD K10 % 45 50 M1MSDINGD3 B12x 160 10  NAZ1G0DINGDD
hd6 » 80 25  MEEDDINGOD R0 % S0 50 M1DS0DINGD3 B2 170 10 NMAZ170DINGDD
MG » S0 25 MB90DINGO3 10w B0 50 M1060DINGOS M2 180 10 MIZ1B0DINGOS
(L (] 25 1G100DINGO3 10w 85 50 M1065DINGOS M2 200 10 MAZ200DING0G
kG x 110 25 MG110DINEDT 810 % 70 50 M10FODINGD3 Bi12x220 10 NAZZ20DINGOD
6 = 120 25 612000603 810« 80 50 M1DS0DINGD3 B12x240 10 N Z240DINGOD
MG x 130 25 1G130DINGO3 10w B0 50 M1090DINGOS M12x 260 10 MIZ260DING0S
6 = 140 25 G100 G0 k10« 900 50  KMOI00DAMNGD3  BM16x &0 25 N GG0ODIMNGDT
K8« 16 50  ME16DINGOD k10« 110 25  KHOT10DINGD3  BM1&x 8D - I GEOCINGDD
ME x 20 B0 MEZODINGO3 MA0x 120 25  MIOT20DING03  MiGx 1200 - P 61 20DIN 603
ME x 26 B0 MEZSDINGO3 MAGx 130 25 MI30DING0Z  MiGx 150 - P 61 S0DIN B0
kg » 30 50  MEIDDINGID R0« 940 25  KOI40DINGD3  M1Gx 180 - T 61 E0DIN GO
kg x 35 50  MEISDINGID R0« 950 25  KOIS0DINGD3  M1G6x 200 - I G200DIN G0
MK » 40 B0 MB40DINGO3 MAGx 160 25  MIGODING0Z  Mi&x 226 - I 62 25DIN B0

15



Bolt Head Screw / U-Bolts DIN 571 Bolt Head Screws / U-Bolts

Bolt Head Screw - ZINC (DIN 571)
Supplied in PACK quanfities

Also available in Siainfess Stesl Just enlace DIN with BWE &0, ME2ORVS5T
I k= e e P e e
QTY | NUNMEBE ET'I' NUKNBER l:!T'l" MBER
Bx 20 HBEMH&H Bx 35 RMEIS0INST 10 x 80 I D90DIMNS5T1
B w25 1EIJ ME2SDINGT B x40 1IJIJ ME40DINST 10 x 100 50 P O DODIN 571
6 x 30 100 ME3DDINST Buxdd 100 MEBASDINST1 10x 110 S0 NMHOT10DINST1
Bx 35 100 MEISDINST Bx 50 100 MESODINST 10x120 25 M0 20DINST
B x40 100 MB40DIMST Bx 55 100 MESSDIMST 10 x 130 25 NADI0DINST1
Bxd5 100 MB4sDIMST 8« 80 100 MEGODIMST 10 x 140 25 NAD40DINSTF1

Bx B0 100 MESO0DINST1 B x 65 100 MESSDINSTA 10 x 150 25 M0 S0DINST
6 x 60 100 MGEODINST1 BxT0 100 METODINSTA 10 x 160 25 MIDIBODINST

B 70 100  METODINST1 8 x 80 100  MES0DINSTY 10 x 180 25  NHO1B0DINST1
6 x 80 100  MEBODINST1 8 x50 25  MES0DINST1 10 x 200 25  NHOZOODINST1
B 90 100 MEIODINST Bx{00 25 ME100DIMST1 12 x &0 26 M 250DIM5T
6x 100 B0 MG100DINST B0 25 ME1T10DIMST 12 w60 26 W 260DIMST
6x 110 50 MG110DINST1 8120 25 ME120DINST1 12x70 25  NHZTODINST1
Bx120 B0 MGT120DINST Bxi30 25 ME130DIMST 12 w80 26 M2B0DIMST
Tx40 100 MF40DINST Bxi40 25 ME140DIMST 12 w80 26 W 290DIM5ST
7 x50 100  M7S0DINST1 8x 150 25 ME150DINST1 12 x 100 25  NH2100DINST1
7« B0 100  M7GODINST1 8x 160 25 ME160DINST1 12x 110 25  NH2110DINST1
7470 100 MFFODINST Bx 200 25 ME200DIMST1 12 x 120 26 MAI120DINST1
7w 80 100 M7EODINSTA 10w 40 50 M1040DIMNST 12 % 140 25  WMHM40DINST 1
Tuii B0 MF10DINST 10w 50 50 MAOSODIMNST1 12 x 160 28 MM S0DINSTA
72120 50 M7120DINST1 10% &0 50 NM1060DINST1 12 x 160 25  NH2160DINST1
Tx130 B0 MF1300INST 10x 70 50 M10FODINST1 12 x 180 26 MIMBODINST1
830 100 MEJIODINSTY 10% 80 50 NM10S0DINST1 12 x 200 25  NH22Z00DINST1
L-Bolts
IE—II-EIEEEEIIE-I_IIEH
15 a5 30 12" BS1S
15 &7 Mm m a3 ISTMS
20 =1 Rz 20 35 aM- BS30
2h-2619 Fii] MiD 40 44 357020
' 25 58 MB %43 1" BS25
25 68 MB %43 1" BS25L
30-33.7 ™ MiD 40 48 357025
a2 g8 Rz B A 114" BS32
2 B8e MiD B  3m-424 357032
40 B8 MB 0 58 112" BS40
] 40 80 MI10 0 &0 1172 BS40L
&0 ad Mi0 3/ H 2" BS50
X &7 - 60,3 i mMi2 B Te 357050
76.1 125 M12 50 54 357065
88.9 138 M12 50 106 357080
108-1143 111 MiB 60 138 3570100

16



Flange / Wing / Eye Bolts Flanged / Wing / Eye Bolts

Flanged Locking Bolts - Zinc
Supplied in PACK quantities

PACK | PART PACK | PART
ET'!' NUNEER aTy | NUNEBER

BB x 10 ME10VT M8 30 100 MEIONVT

Max 12 1W MG12VT ME w20 100 ME4OVT

™ ME w18 100 MGIEVT MAGx 16 100 MICTENT
MEx 20 100 MG20VT M10=20 100  NAO20WT

J ME x 25 100 MG2SVT M10x25 100 NHO2SWT

MB w12 1060 MEIIVT MAGx 30 100 M0S0VT

MEx 18 100 ME1EVT MADx 35 100 MHO3ISVT

Me w20 100 ME2OVT MAGx 40 100 MOOVT

Mawx25 100 MEZSVT

Flanged Locking Bolts - Black
Supplied n FACK quantities

FE FEEE
ﬁT‘l‘ NUNMEER aTty | NUMEER

ME 10 ME10VR M10x 25 100 MI02Z5VR
MEx 12 ME12VR M10x30 100 MAO3OVR
MEx1g ‘IIII mE16VR MAGx 35 100 MI03SVR
ME x 20 100 MEZOVR M10x 4D 100 MAGIOVR
MG x 25 100 MEZSVR M1Z2x20 100 MA220VR
Max 12 1060 ME12VR MAZx 25 100 MIZ2SVR
ME w15 100 ME1EVR MAZx 35 100 MIZ3ISVR
ME x 20 100 ME20VR MiZx4d 100 MIMO0VR
Bg 2 30 100 NEINVR M1Gx 50 100  MGI0VR
e w20 100 ME4OVR MAGx 40 100 MISOVR
M10x 16 100  MICIGVR MAGx &0 100 MEE0VR
M10x 20 100 MA020VE Mi1gx70 100 MHGFOVR

METRIC Wing Bolt - Zinc (DIN 316)
Supplied in PACK quantities

PACK | PART PACK
l:tT'l' NUNEER nn' II.II'lH-

MSx 18 MS16DIN316 3 x 25 ME2SDINI16
MG 20 EE MG 200N 316 MAE w30 ED MEIODING16
ME w10 25 ME10DIN316 MAGx 20 25 MO20DING16
Max 18 25 NME16DIMI16 R0 25 25 NHD23DINI1E
M3 x 20 25 NEDIMNI1G Rl 10 2 50 - M 030DIMNI 16

METRIC Eye Bolt - Zinc (DIN 580)
El.l:ll:llied in PACK quantities

s Lo ieen

liII:IHEHI

1EI MEDINSE0
H1i.'l 10 MIODINSED
M2 0 NAZDINSED
M1 0 NAGDINSED

17



DIN 934 Standard Metric Nuts

METRIC Standard Nut - ZINC [DIN 934)
EL!:IDIied in PACK quantities

PACK | PART PACK | PAR
ET'!' NUNEER nn' HI.II'IH-

NODIN934 M1B RMEDING3

1IJII:I e DI NS34 A0 EE MZ0DINS34

ME 100 MEDINS34 [ g 25 MZ2DINS34

i3] 100 MEDIN934 mM24 20 M24DIN93M

. | ] M7 100 N7DIN934 M27 5 RZ7DING3M

e 100 MEDINS34 W30 & M30DINS34

M0 1040 MAODINGS3S M33 & MIIDINS34

M1z 100 W 2DING34 M35 & M36DINS34

M4 50 MI4DINS34 iz 1 M42DINS34

M1& 50  NAGDIN93M

Also avaiable In Slainless Slesl Just replace DIN with RV S eg. NMIRWVSH34
Also gvailable in 108 Strength Just drop DIM and add on 109 &g, MES34104

METRIC Fine Thread Standard Nut - ZINC [(DIN 934)
El.l:ll:llied in PACK quant'rtie&

|
EZE ﬁT'I' I'I.IHEER SIZE ary

a1 ME1DINGM M22x 2 N2 220N 834
M10x 1 1’5 M 01DIN 34 M24x 1.5 1!] NE241SDINGY
. BMi0x 125 25  MAOZ5DINS34 MZd w2 - NEAZDING34
1A 3 Mi12x 1 25 MAZ1DING3A M27 % 1.5 5 NE2T15DING 34
Il } B12x 125 25  NAZ125DIN934 MiDx 1.5 5 MO0 SDIMNG
MiZxts 25 MA1SDING3S M0 2 B MI02DINGS34
M14x 18 10 MI41SDING3S Madx 2 B MII2DING34
M1Gx 15 10  MHG1SDING3S MiEx 15 5 NOE1SDING
MiBx 1.5 10 MAESDING3S M3gx 2 5 NOG2DING34
M20x 16 10  MR2OVSDING3S M3 3 - ME930IN 34
M22x 16 10 MRIISDING3S MEEx 4 . MEEDIN 34

Alao available m 10 9 Strength Just drop DIN and add on 109 e,qg, M4098341048

METRIC Standard Nut - BLACK [DIN 934)
EL!:II:llied in single units

ﬂiIEE HUNBER HUMBER

MADING B 16 K GDINSHE

MeDINOHB h20 N2ODINGME
ME MEDINGE he24 KMEZ4DINSHE
10 T ODINSAE W24 w2 KE242DINS34E
IREE 01 DIMa34B R30 NOODINGME
a2 MZDINGMB 38 NOGDINGME
M4 M4DINSHE M3Ex 3 x 14 MIGEIA0INGI4E
M14x 158 MI415DINGHE M3Gx 3 MEEI0ING34E

18



Fasteners DIM 934 Imperial Standard Muts

IMPERIAL Fine Thread Standard Nut - ZINC (DIN 934)
Supplied in PACK quantities

BIZE THREAD F‘AFIT
nrh T"I"PE

1II-I.IHFI3I-
LINF 25 ST6UNFI34

E.I'E LINF 6 JBUNFI34
e UNF 25 T16UNFIM

| 1nr2 LINF 25 TZUNF934
' ane LINF H 9I6UNFI3

=1 LNF 25 SEUNF934

a4 LINF 10 J4UNFI34

e LUNF 10 TEUNF934

1 LINF 10 1TUNFO34

IMPERIAL Coarse Thread Standard Nut - ZINC (DIN 934)
Supplied in PACK quantities

A
lm.n TYPE 'l.'.ITI" NUMBER

LING JEUNCIM
LkMG 25 T4UNC934
EHE LING B SI6UNCI3
a8 LG 5 JBUNCI34
e THa LINC 25 TiEUNCoM
i | 112 UNC 25 1IUNCEHM4
{ 12 WA 10 T2WWWesd
Ans LNG 25 01EUNCOM
a4 LM 10 SEUNCO34
a4 LINC: 10 J4UNC34
e LG 10 TFEUNCS34
1 LING 10 1TUNCO34
118 LT 10 11834
114  UNC 10 1HUNCe3
112 Ww 100 110934

Mote: WEA s WAt Worth thread

LOCTITE® Lock ' N ' Seal - Threadlocking

Locking of Threaded Fasteners up to M36. Effective on all types of metal
threaded fasieners, Prevenis loosening on vibrating paris such as pumps,
motor mountng bofts, gear boxes or presses

Applications:

Recommended for use where disassembly with hand tools is required for
serdcing and where parls are contaminated with il

P1 MSF Reg: Mo, 123000

Carified to ANSINSF Standard 61

 DESCRIPTION | PART NUMBER

Lock " M ° Sead - 12 x 3ml Blister cand 0103437

Lock " M " Seal - 12 % Zdmi BEster card 0103430

Lock ' M ° Seal - 60ml Botle 0103438
We stock a complete range of Loctite products,
Ack our Sales Staflf for further details

19



Nuts DIM 985 Metric / Imperial Locking Muts

METRIC Lock Nut - ZINC (DIN 9835)
EL!:IDIied in PACK quantities

PACK | PART PACK | PAR
n‘n‘ NUNEER nn' HI.II'IH-

NODIN9ES M1B RM1EDINGES

1IJII:I e DINSES A0 EE MZ0DINSES

ME 100 MEDINSES [ g 25 MZ2IDINSES

i3] 100  MGDINGES mM24 20 M24DIN9ES

M7 100 N7DIN9ES M27 5 M2Z7DINGES

e 100 MEDINSES W30 & M30DINSES

M0 1040 MAODINSES M33 & MIIDINSES

M1z 100 W ZDINGES M35 & M36DINSES

M4 50 MI4DINSES [LE] . M4EDINSES

M1& 50  NGDINOES

Also avaiRble in Slainless Stesl Just replace DN with RV S e.g. NMIRVS885
Also gvailable in 108 Strength Just drop DIM and add on 109 &g, MEAES104

METRIC Fine Thread Lock Nut - ZINC [DIN 985)
El.l:ll:llied in PACK quant'rtie&

G EE
SL?.E ﬁT'I' I'I.IHEER GT'I' NUNEBER

a1 ME1DINGES M18x 1.5 R1815DINBES
M10x 1 1’5 M0 1DINGES M20x15 1l] RM20150DIM 985
BMi0x 125 25  MAOZ5DINSES MEZx15 10 MMIZ1SDINGES
M12x 825 25  MAZ125DIN98S M2dx15 10 K2 15DINGES
Mlax 15 25  MA415DINGES MiDx 15 5  NMID15DINGES
Migx 16 25  MIE1SDINGES M0 2 B M3I02DINGES

Also gvailable in 109 Sirength Just drop DIM and add on 109 e.g, ME18985100

IMPERIAL Fine Thread Lock Nut - ZINC (DIN 9835)
Supplied in PACK quant'rtie&

THREAD
TYPE HU

LNF TAUNF985
Eﬂﬂ LINF 25 S16UNFIES
A LIMF 25 EUNFO9E5
me  UMF 25 TIGUNFOES
12 UKF 26 12UNF985
aME  LUNF 25 D1BUNFIES
=12} LINF 26 SEUNFI8S5
34 LINF B MUNFIES
T LNF 25 TEUNFO985
1 LNF 10 1UNF935
114 LUNF 5 1HHUNFIES

20



Imperial Locking / Locking Muts

IMPERIAL Coarse Lock Nut - ZINC (DIN 985)
Supplied in PACK quant'rtie&

BIZE | THREAD
nrh TYPE HU

LIMG TAUNC985

LInNG 25 S16UNCIES
E.I'E LN 6 JBUNCIES
THE  UNC 25 TIGUNCOES
1nr2 LR 25 1TZUNCO85
M UNG 5 9IGUNCIES
=1} UnC % SBUNCO85
a4 LING 5 MUNCoES
e LING 10 TEUNCOES
1 LIMC 10 1UNC985
114  UNG 5 1HUNCHES

METRIC Self Locking Nut - ZINC {DIN 380)
Supplied in PACK quantities

THREAD |PACHK| PART EAD |PACK| PART
HZE ﬂ'ﬁ' NUNMEBER GT'I' NUWMBER

MGDINgE0 M1B M1GDINSED

1I:H] MEDINGED hi1g K18DINGED

M'1 0 1060 NHODINGED f 200 25 K200 N9E0
miz 100 A 2DINGED [ 10 RMZ2ZDINSED
M4 50 M14DINgE0 M2 10 M24DIN9E0

Mid4x 15 100 BH415DINOS0

Short Locking Mut (DIN 936)
Supplied In PACK quantities

THREAD | PACK | PART NUMBER
ﬂZE aTy

100 MEDINS3G
lﬂ“ll] 100 M DD ING3G
M1z 100 MM 2DINSS6
14 a0 B 4DINS36
LR 50 M BDING3G
a8 25 M BDING3G
M2 25 KE2ODINS36

21



Nuts Connecting / Castle Nuts

Connecting Nut (DIN 6334)
EL!:IDIied in PACK quant'rtie&

EACK NUMBE
EEE PART NUMBER

NHDINGIM

'EE MEDIN 6334 10 MEBRVEETH
HE 25 MGDIN 6334 10 MGRVS6334
ia 25 MEDINGIM 10 MERVESEIM
MO 25 M 0D INGI34 10 M ORVSEIM
M1z 25 B 2DINGT34 10 M 2RV B354
14 10 MA4DING334 5 M4RVEE334
LR 10 M GDING334 5 M BRVEE354
B0 10 ME2ODINGT34 5 MEZORVSE334
M2 - NE22DINGI34
24 5 KE24DINGT34

Connecting Nuts (DIN 928 & DIN 929)
Supplied m FACK quantities

A
iﬂZE aTyY | PART NUMBER PART Hl.l
1'-‘5

ME 25 PGDI NS
ma 25 MEDINGZE
B0 25 A ODINS2E
i1z 25 I 2DING2E

DN 228

Castle Nut (DIN 935 & DIN 937)
Emplied in PACK quantities

e e | 5 S
HZE PART NUMEER FﬂRT Hl.l

B2 M 200N 935

MiZx 15 m M 21 5DIN9 35 10 M 21 5DIN9 3T

Mi4 10 MI14DINS35

Midx15 10 M 41 S0 NG 35 10 M 41 SDANG3T

MG 10 I GOIN 935

Migx 16 10 1 61 5DIN9 35 10 P 61 5DIN9 3T

LR k] 10 A1 BDIND3S

Migxt6 10 M 81 5DIN935 10 M 81.50IN9 37

Mz 10 M2ODING35

MX=15 10 NE2 01 SO NG 35 10 NE2 O SDAMNG3T

B2 10 N2 20N 935

M22x 16 10 W2 21 SDIN9 35 10 W2 21 SDING3T

B2 10 NE2ADIN935 10 NERADIN 37

M2Mx15 5 N4 SDING IS 10 N4 SDANGIT
Marrow Type 27 5 ME2TDINGES

M2Tx 15 & W71 5DIN935 10 W71 5DING3T

30 5 NEODIN 935

MIx15 5 NEROA SO NG 3D

M3Ex 16 6 W61 SDING3T

22



Dome / Wing / Eye / Anti-Vibration Muts

Domed Cap Nut (DIN 1587)
EL!:IDIied in PACK quant'rtie&

EACK NUMBE
EEE PART NUMBER

NHDIN 1587 25 NHRVE15ET

'EE MEDIN 1587 25 MEBRVES15ET

HE 25 MGDIN 1587 25 MGRVS15ET

ia 25 MEDIN 1587 25 MERVE15ET
MO 25 M ODIN15SET 25 N ORVE1587
M1z 25 M 2DIN1SET 25 M 2RVETSET
14 10 MA4DIN1SET 10 MA4RVE1SET
LR 10 M GDINTSET 10 KGRV ETSET
Bz . - 10 KEZORVE1SET

Wing Nut [DIN 315)
El.l:li:lliad in PACK quant'rtie&

ﬁ?.E FﬂRT Hl.l

25  MORVSMS
MMDINI1S 25  NMRVSMS
HE- 'EE MEDING1S 20 MSRVEIS
M8 25  MBDINI1S 25  MGRVSIS
Mg 25  MBDINHS 25  MBRVSMS
LURR] 25 M10DING 1S 20 M1DRVS3I15
miz 25 M1 2DIN3 1S 20 M1 2RVS3I1S
M4 . - 10 MI4RVE315
Mig 10 MHBDIN31S 10 MHBRVE3MS
Mz - - 10 MRZORVSI1S
Eye Nut {DIN 582)

Supplied n PACK quantltla-s

HZE 'GT'I"

MGDIN 582 M1B 160N 582

1l] MEDIN5E2 A4 UNC 'Il] MUMNC5E2

M'1l] 10 M 0D INSE2 h20 10 RM20DIN582
M1z 10 B 2DINSEZ 30 10 300N 582

Anti-Vibration Flange Nut
Supplied in PACK quantities

el i
EHEE
25

R0 RMI0VR
ME 1'5 III'J'II 12 25 K12vR
ke 28 MEVR 16 25 M1GVR

Anti-Vibration Tensile Lock Flange Nut
Supplied n PACK quantities

THREAD | PACK | PART NUMBER Eh’. PART NUMBER
-‘HEE -I:.‘.IT's’

M1IJ M10vT
I.HB 25 12 25 RMI2VT
g 25 IIE'JT R16 25 R1ENT

23



Screws Taptite / Self Tapping Screws

Taptite Boit (DIN 7500C)
Supplied in PACK quantltla-s

E i
ﬂT'f

ME 10 ME10DINTS00C
MEx10 MG 10DINTS00C
MEx 12 H]l] NG 1ZDINTS00C
MEx16 200  MG16DINTS00C
ME x 30 200 MG IDDINTS00C

Self Tapping Screws Hexagon Head (DIN 7976C)
Supplied in PACK quantltla-s

GT'I" nT'r

EBHBE- 2995DINTIT6C 4.5:[19 4B190INT9TEC
256x96 E'DIJ I595DINTITEC 4.8y 26 EEID 4B25DINT9TEC
35x13 200 I IDINFOT6E 48x 32 200 4312DINTOT6C
SE5x18 200 I EDINTOT6E 55x13 200 SF1IDINTOTeC
36x18 200 3519DINTITEC BExi16 200  SS16DINTITEC
3Bx25 200 I525DINTOT6E 55x189 200 ST19DINTOTeC
38w 18 200 I EDINFOTGE 55x 25 200 S525DINTOTeC
42x865 200  4295DINTITEC BEx32 300  SS32DINTITEC
42x13 200 4 3IDINTIFEC B3xi6 200 GINEDINTITEC
42x16 200 421GDINTITEC B3xi1® 200  GI1ODINTITEC
42x18 200  419DINTIFEC B3x26 200  GIZSDINTOFEC
42w25 200 4225DINTITEC Baib 200 B16DINTATEC
42w32 200 423Z0DINTITEC Bxid 200 B19DINTeTEC
48x85 20 A205DINTOT6C Bx 25 200 BXDINTIFEC
48x13 200 48130DINTITEC Bx32 200 BIIDINTATEC
48u18 200  4816DINTIVEC Bx 38 200 B3EDINTATEC

Counter Sunk Screw (DIN 79828 & DINTS82C)
Supplied in PACK quantities

i
aTy (i) l:‘tT'l'

29w86 100 2995DINTIEZE 48x19 4B190INT982C
28x149 100 2019DIN TR 2B 48x 22 III AE2IDINTOR2C
35x149 100 I GDIN TR 2B 4.8x 25 100 AE25DINT082C
S35x16 100 IF1EDINFOR2C 48x 32 100 A12DINT982C
A A5 32 100 IEZDINTeR2C 48x 38 100 4EIEDINT982C
*' 32x25 100 3923DINTIEZE 48x45 100 4B4SDINT9E2C
42x18 100 4MEDINTIEIC BEx32 100  S532DINTIE2C
4.2x19 100 4210DINT982C 55x 38 100 S5IEDINT 082B
4.2% 25 00 4225DINTIE2B 5.5 x 45 100 SHSDINT9R2C
4232 100 423Z0INTIEIC BExB0 100  SS50DINTIE2C
4.2 38 100 423EDINTIE2B Blix 25 100 GI2SDINT982C
4.2 45 100 4245DINT982C Bix 38 100 GIIBDINT982C
42uwB0 100 4250DINTIEZE B3x4E 100  GI4EDINTIERC

48x16 100 4816DINTIEIC

24



Screws Self Tapping Screws

Self Tapping Screws Round Head Countersunk (DIN 7381B)
Supplied in PACK quant'rtie&

PACK NUNBE PACK | PART NUMBER
GT'I" nn'

29x 35 M950DINTI81B 4.2 32 42I2DINT981B

20%13 mu 29130IN79818 42x38 zm A238DINTORE

28x16 200  2916DIN7981B 4Bx95 200  4895DIN7ISIB

28%18 200 F1GDINTI8 1B 48x13 200 481IDINT9E81B

35x35 200 J5950IN TR 1B 48x» 18 200 4816DINT981B

36x13 200  3513DIN7981B 4Bx18 200  4819DIN7IRIB

36x16 200  3516DIN7IR1B 4Bx20 200  4820DIN7IRIB

36x18 200 3519DIN7981B 4Bx22 200  4822DINTOSIB

35%22 200 35220IN7981B 4Bx26 200  4825DIN7OSIB

35w 25 200 J5250DINTOR 1B 4.8 32 200 483I2DINT9E81B

_ N .. 36x32 200 35320IN7981B EEx13 200  S513DIN7981B
Also available in Stainiess Jeel  agpqa 200 S1IDINTISIER E5x16 200  5516DINT9R1B
Just repiace DIN with RVS 589x168 200 301GDINTIZIB 55x18 200  S5510DINTOZIB
g 39x18 200 Ja1aDIN I8 1B 55x 25 200 S525DINT9E81B

9. 2913RVSTIE1B 39x25 200  39250INTISIB ESx32 200  S5320INTIS1B
38x38 200 3938DIN7ISIB EExE0 200  S550DIN7981B

42295 200 A295DINTI81B BE3x 16 200 BI1EDINT9E1B

42213 200 421 IDINTIR1B BEix19 200 BEITODINT9E81B

42x14 200  4214DIN7981B 63x25 200  63250IN7981B

4215 200 A1 5DINTIR1B Bix 32 200 GIIZDINTIE1B

4.2x16 200 AX1EDINTIE1B B3x 33 200 GIFBDINTIE1B

42x17 200  4217DIN7981B 63x45 200  6MSDINTISIB

42x18 200  4219DIN7981B 63xE0 200  6350DIN7981B

42x25 200 AZZSDINTORIE

Self Tapping Screws with Philips Head (DIN 7983C)
Supplied in PACK quantities

N
ﬂT'f' (i) l:‘tT'l'

28x896 29950IN FOR3C A8y 96 AR95DINT 9830

29%13 zuu 2013DINTIEIC 48x13 zcrn A21IDINTI8IC

28x16 200  2916DINTISIC 48x16 200  4S16DINTISIC

28x18 200 21 90N FOR3C A8y 18 200 AH19DINT 9830

J6x96 200 J5950INFIR3C 4826 200 ARISDINT983C

35%13 200  3513DINFISIC 48x32 200  4S3I2DINTISIC

s availaile in: Stailess Shesl 3E6x18 200 F5160INFIR3C AHx 38 200 AHIADINT983C
B e 35%19 200  3519DIN7983C 5513 200  SS13DINT8IC

36x 25 200 I5250INTFIR3C BEx 16 200 S516DINT983C

38«18 200 I GOINTFIR3C BEx 18 200 S519DINTF983C

=4. ZSRVITEEIC 42x85 200  A205DINTOEIC 55x25 200  5525DINT983C
42x13 200  4213DINTI8IC 5E5x32 200  S55I2DINTO8IC

42186 200 4HGOINFIRIC G.3x 16 200 GHEDINT 9830

4218 200 4H9DINFIR3C G.3x 18 200 GHODINT983C

42x25 200  A4225DINTI8IC B3x25 200  6I25DINTO8IC

4.2 %32 200 AXI2DINTORIC

25



Screws Self Tapping Screws

Self Tapping Metal Screws (DIN 7504)
Supplied in PACK quanfities

ig DM TR0

PACK | DINTSOMN DN T 504K DINF50AM
ET'I' PART NUMBER | PART NUMEBE GT'I" PART NUNBER

28x 85
28x13
29x 16
29x19
35x 85
35x13
36x16
36x19
35x 25
39x18
3032
4285
42x13
42x16
42x19
4.2y 25
42w 32

88888888885 58888

2O95DINTS 0N
29130INTS04N
2916DINTI04N
29190INT504N
J505DINTS 04N
A51IDINTS 4N
A5160INF504N
A5190INT504N
A525DINTS 04N
9 16DINTS 04N
FAI20IN 04N
42950INT504N
AZ21IDINTS 04N
42160IN F504N
42190IN F504N
A225DINTS 04N
A212DINTS 04N

JF05DINT S0 K
351 IDINF S0 K
351 6DINT 504K
351 9DINT 504K
A525DINT S0 K
301 6DINF S04 K

421 IDINT 50 K
4216DINT 504K
4219DINT 504K
A2250INT S0 K
A2 DINT S0 K

DM TS0k

48x 13 A1 IDINTI0AN
48u 16 'EDIJ 48 160INTI04N
48u 18 2000 4819DINTS04N
48u25 200 48250INTI04N
4.8 x 52 200 4332DINTS0MN
4.8x 58 200 A33EDINTS0MN
4850 200 4850DINTI04N
SEw18 200 SS16DINTI04N
55x 189 200 S 19DINFSMN
5% 25 200 S525DINFSMN
SBwEZ 200 S5320INTI04N
SexS0 200 -

Gix 16 200 EI1EDINFSMN
gaxis 20 -

6325 200  63I2S0INTI0L4N
B3x 2 200 -

63x 38 200 -

PART NUKMBER
AB1IDINT S0
4B1GDINTS04H
AB19DINT 04K
4B25DINTH04H
AEI2DINT S
AEIBDINT S0

S516DINTS04K
SS19DINT 0K
SE2GDINT 0K
S5320INTS04K
S5500INT S04
GIECINTS04K
BIGDINT S04
BI2SDINTS04K
GIIZDINT S04K
GIIBDINT S04K

Self Tapping Metal Screws with Neoprene Washer (DIN T7976)
Supplied in PACK quant'rtie&

= Em—
'I:IT'I"

G5x19 6319MEQTOTE
85 x 25 G52 SNEDTITE
8.5 x 38 IEIIJ BSIENEDTITE
F 6.5 x50 200 6350MEQTOTE
6.5 x84 200 G364MEQTOTE
G575 200  BITSNEOTING
Gox80 200  BISONEOQTING
65x 115 200 B3113NEQT 7 G
65x13 200 B51I0NEQTOT 6

Self Tapping Screws POSIDRIVE BZP
Supplied in PACK quantltla-s

ﬂT'I"

4412 Ke 0501
- 6x 18 .E'CIIJ e 0506
Bx 148 200 NHOD514
10 x25 200 NHO52D

26



Screws Machine Screws

Machine Screws with Cylindrical Slotted Head (DIN 84)
Supplied in PACK quant'rtie&

PACK NUNBE PACK | PART NUMBER
aTy nn'

M3xB 100  MOBDINE4 M5 x 10 M510DINS4

Miug 100 M3IEDINGS MEx 12 'IIII 51 2DINE4

M3x10 1o MI10DINES MEx 16 100 M3160INE4

M3x12 100 MO12DINB4 M5x20 100  M5200IN34

M3x16 100 MO1GDINE4 M5x25 100  M5250IN34

Mix20 100 M3I20DINES ME x 30 100 MS30DINES

W M3Ix25 100  MIZSDINE4 MEx 35 100  MS3SDINS4

\_ M3x 30 100 ME300INE4 ME x 40 100 M340DINES

Max40 100 M340DINES ME x 45 100 M54 50INE4

Also available in Slamiess Sieal B4 =B 100 LHEDINES K5 3 50 100 K5500IHME4

Just repiace DIN with RVS (TEE- 100 NMEDINS4 MEx B0 100  MSGODINS4
M4 10 1o MY 10DINES MEx B 100 MEEDIN S

29 MIERVSE4 Mix12 100  MWIZDINB4 MEx10 100  IM610DINS4

Mdx16 100  MWIGDINE4 MEx12 100  MG12DIN34

Staintess Steel Screws are  cpuepan 1007 | MZ0DINSE MEx16 100  MB16DINS4

“_'I|J|.'|'|_.|I E.J i Bbax suantitias of SU m.‘ 25 1uu mmm ME‘]‘: z.u .Im mzm"“

Méx30 100  NWIODINE4 MEx25 100 ME25DIN34

Mdx35 100  MWISDINE4 MEx30 100  MEIODINS4

M4 w40 100 ME40DINES ME x 35 100 MEISDINES

Mdx45 100  NWASDINE MEx40 100  MG40DINS4

Méx50 100  MWSODINE4 MEx50 100  MEB50DINS4

M w60 100 NEEO0DINE4 ME x 60 100 MEEODINES

MENE 100 MESGDINES ME x 70 100 MEFODINES

MEx B 00 MSEDINES

Counter Sunk Machine Screws with Slotted Head (DIN 963)
Supplied in PACK quant'rtie&

PACHK NUNBE PACK | PART NUMBER
aTy nn'

M3 =10 100 EEO10DINGG3 RiEx 10 961 0D N9
M3x20 100 MB20DIN9G3 ME x 16 1m ME16DING63
B3« 30 100 EEI0DINGG3 RlE = 20 100 6200 IN9EY
B3« 38 100 NEOIEDINGGT KB x 25 100 962 50 IN9ED
Méx10 100 MHI0DINGG3 MEx30 100 MB30DINGG3
Méx12 400 MH12DIN9G3 MEx35 100  MB3ISDINGG3
M4 18 100 EHAGDINGG3 KB x 40 100 96400 IN &
B 20 100 AW 20DINGGT KB x 45 100 964 5D IN9ES
e b S loae gy MAX25 100 NM25DIN963 MExE0 100  MBSODINGG3
lsaavaliable in Stewiess Seel  pyan 000 | NHSDDINOSS MEx B0 100  MBEODINGG3
Just replace DIN with RVS M4x35 100 MH3ISDINGG3 MEx70 100  MGTODINGG3
L Méx40 100 MH40DINGG3 MEx20 100  ME20DIN9G3
= k4« 50 100 EHSODINGG3 M3 x 25 100 MaE25DINOED
. MexBO0 100 MHBODINGG3 MEx30 100 ME30DINGG3
Stainless Stee| Screws are
e ., MEx10 100 MS10DIN9G3 MEx35 100 ME3ISDINGG3
M5 12 100 ENE12DINGGT 3 x 40 100 840D INOED
S w18 100 KE16DINGG3 K3 x 50 100 MES0DINGED
MEx20 100 MS20DIN9G3 MExE0 100  MBSODINGG3
MEx25 100 MS25DIN9G3 MEx70 100  ME7ODINGG3
M5 x 30 100 KEI0ODINGG3 K10 = 25 100 R1025DINGGE3
M5 x 35 100 KNS ISDINGG3 K100 = 30 100 R1030DINGE3
MEx40 100 MS40DIN9G3 M10x35 100 M1035DIN9G3
5w 45 100 MNS4SDINGGT 10 = 50 100 R1050DINGG3
M5 x 50 100 MESODINGG3 12 = 30 100 12 30DINGGE3

27



Screws Machine Screws

Machine Screws with Zinc Plated Couter Sunk Head

(DIN 985 / DIN 966)
Supplied n PACK quantities

ﬂ PACK | CROSS CUT DONE HEAD
cm' PART NUMBER PART NUMBER

MaxB M EDINGES -
Maxi2 Eﬂﬂ - 100 “1““5
Crose Cut Mé X168 200  MAIGDINGGS - .
MEX2G - - 100 NS 2SDINGGE
MEX3D - - 100 NS IODINGGE
M5X35 - . 100 M53ISDINDGE
25 - MaX16 200 ME16DINGGS 100 MG16DINSGE

e

MG X 20 200 EG20DINGGS 100 EWG20DIN 066
MEG X 25 200 G 2SDINGGS 100 LG 25DIN GG 6

Dome Head MEX30 200  ME30DINGES 100 MGI0DINGGS
MEX35 200 ME3SOINGGS 100 MG3SDINOGE
BB X 40 200 EG40DIN OGS - =

Machine Screw with Cylindrical Philips Head {DIN 7985)
Supplied in PACK quantltla-s

A
ﬂT'l"
M4 X142 MH1ZDINT98S
M4 X165 MW 1EDINTO8S
M4 X 20 Eﬂﬂ W Z0DINTO85

Alen availlable in Staniess Shesal [TER & 200 MM 250N FO8S

Just repiace DIN with RVS M4X30 200  NH30DINTIES
, M4 X 36 200 R ISDINTFO8S

&0 M310RVSToE5 ME X 40 200 NWADDINTORS
i : M4 XED 200 MMSODIN7ES
Stainless Stee| Screws are M4 X BG 200 NHEODINFORS

supplied In Box guantities of 50 MEX1E 200 MS16DINTIES
MEX 20 200  NMS20DINTO8S
ME X2 200  NB2ZSDINTO8S

Dome Head Machine Screws

SIZE PACK | PART NUMBER PACK | PART NUMEBER
ﬂT'f GT'I'

£ X 40 B X230 PVE20
5K 50 g X25 Eunh PWE25
o X 60 Em:h F'd‘m g X 30 Each PWVE3l0
6x16 Esch PVG16 B X35 Each PVE3S
65X M Each PWG20 g X40 Each PWVa40
BX25 Each PVG25 10 X 30 Each PV1030
& X 30 Each P30 10 X 50 Each PWVI050
&X 40 Each PG40 10 X 60 Each PWVIDGED
G X 60 Each PVGG0 10X T Each PV10T0
BX 18 Each PVEIG

- _ Assortment box of Machine Screws

| r [DESCRIPTION | PARTNUMBER

[ Assortment box of Machine Screws DIN 84 Ha11

— —t | | Contains the following:
60 of 3 x 26 40 of 4% 30 30af6x 30
d0 of 3x 40 A0 of 4 x 50 J0of5 x40
A0 of 4 » 20 40 of 5x 20 I0of6x 25
40 6f4 = 26 40 of Ex 25 26 ol 6 x40

28



Screws Chipboard Screws

Cylindrical PHILIPS Head Chip Board Screws
Supplied in PACK quant'rtie&

PACK NUNBE PACK | PART NUMBER
GT'I" nn'

3z A7 SPLIT 4.5 25 BPLA525
325 E‘.'IIJ BPL325 4.6 30 E'ﬂﬂ SPL4530
J5x17. 200 BPLINT 45x40 300 SPL4SD
35x20 200 SPLI520 4.5 50 200 SPLASS0
35%30 200 SPLI530 5217 200 BPLYIF
420 200 EPL420 Gx20 200 SPLS20
4u 25 200 SPL425 Gx 30 200 SPL530
4 30 200 SPL430 G40 200 SPLS40
440 200 EPL440 Gx B0 200 SPLS50
4 50 200 SPLASD 5x 60 200 SPL560

45u18 200  SPL4SIG

Countersunk Head Chip Board Screws
Supplied in PACK quantities

) i
t.'.lT'l" (i) l:‘tT'l'

26x18 SPE2516 4.6x40 SPS4540
25 %25 znu SPE2525 4.5 45 zcrn SPE4545
3% 13 200 SPSI3 45x50 200 SPS4550
3 16 200 SPSI6 46xB0 200 SPS4560
320 2000 SPE320 4.6x TO 200 SPE45T0
3% 25 200 SPBIZS 45x80 200 SPS4580
Ix 30 200 SPS330 Bx 20 200 SPS5M
An 35 200 SPS335 Bx 25 200 SPS5S
3% 40 200  SPSMOD 5 x 30 200  SPS530
35x13 200 SPBISII 5 x40 200  SPS540
W 38x17 200 SPSINT Ex50 200  SPSS50
35x 20 200 SPE35M0 Ex B0 200 SPS560
35x25 200 SPBI5SZS 5x 70 200  SPS5T0
Alsn available in Stambess Stas B % A0 200 SPEI5I0 5w B0 00 SPS5E0
Just replace add RVS to the 36x35 200 SPE3535 Ex80 200 SPS500
Part Number A5x40 200 SPEISD 5 100 200 SPSS5100
dx 18 200  SPS416 B x 30 200  SPS630
e.4. SPS2516RVS 4% 20 200 SPS420 6 x 35 200  SPS63S
4% 25 200 SPS4MS 6 x40 200 SPS640
4% 30 200 SPS430 B x 45 200  SPS645
4% 35 200 SPB435 8 x 50 200  SPS650
4% 40 200  SPS440 B x B0 200  SPS660
4% 45 200  SPB445 Bx 70 200  SPS6T0
4% &0 200 SPS450 6 x B0 200 SPSERO
4% 80 200  SPS460 B x 80 200  SPS600
4% 70 200  SPSATD Bx100 200 SPS6100
456x 18 200 SPE4516 Bx120 200 SPS6120
485x 20 200 SPE45M0 Bx 130 200 SPS6130
45x25 200 SPB4525 Bx140 200 SPS6140
45x30 200 SPB4530 Bx150 200 SPS6150

45w35 200  EP45IS

29



Screws Chipboard Screws / Wall Plugs

TORX Head Chip Board Screws
Supplied in PACK quant'rtie&

BEE PACHK NUNBE PACK | PART NUMBER
GT'I" nn'

3 x 12 SPETI12 Gx4dl
18 ECID BPETI6 GBx45 EF‘ET&H
dx 20 200 EPETI20 BxT0 ".n."ﬂ.'l SPETST0
E5x16 200 SPETIS16 Gx 80 100  SPSTSED
4x 16 200  SPET416 5x 80 100  SPSTH00
450 200  ESPET450 Gx 100 100 SPSTS100
w 4u 60 200  SPBT460 6 x40 100  SPETE40
46x25 200  EPBT4523 645 100 SPETE4S
45x30 200  EPET4530 Bx 70 100 SPETEM0
45x 35 200 @ SPET4515 G x 80 100  SPSTEE0
46540 200  EPET4M0 B x 20 100 SPETEH0
4545 200  EPET4M5 6 100 100 SPSTa100
45x50 200 SPET4550 Gx120 100  SPSTE120
45x80 200  SPET4560 G x 140 100  SPSTE140
Su 30 200  EPSTS30 6 x 160 100 SPSTE160

8x 35 200 ESPSTS35

Assortment box of Self Tapping Screws

- PART NUMBER
Assortment box of Tapping Screws MO12
- 530 peces from 289y 9,510 55« 25 mm
Wall Plugs
Supplied in FACK quantities
el I 3
— ! aTY | PART aTy F:ART nn' PART
PL TYPE "u HNUMBER
5 mm 100
# & mm 100 UXE
&% 50 mm -mu UXEL
1 G mm with coftar 100 UXER
g¥ TYPE #Bmm 10 PLE 100 SXE 10 Uxs
B mm with coflar 100 UXER
’ 10 mm 50 PL10 50 SX10
M 10 mom with collar 50 UX10R
12 mirm 26 PL12 25 SX12 ux12
UX TYPE 14 mm 0 PL14 20 SX14 ux14
16 mm 20 SX16

30



Washers & "0’ Rings

Farfd numbers marked in Red
are also- avallable in BLACK
Jusk place B after the Par
Mumber

&g MADIN1254B

Afao gvailable in Stamisss Sies|
Just replace DIM with RS

eg MIRVS127B

DIN 125 Standard / DIN 127

Steel Washer (DIN 125A)
Supplied in PACK quant'rtie&

PACK NUMBE
ary PART NUMBER

ME

121

7

Mg

B0
LR
M4
M1E
LIREE
k20
a2
24
7
LU
L
B3E
mag
ha2
i B
g
M2
a6
MED

100
100
100
100
100
100
100
100
100

RRRER R EEREERESS

B Spring Washers

MM 1258

e DIN 1254

MEDIN 12548

MG 1258

N7 DM 1258

MEDIN 1254

P ODINT 254
B 200N 1 254
R4DINT 254
I BDINT25A
K1 SDIN1 254
KEZODINT 254
ME2DINT25A
NEADINT25A
KE2TDINT 254
MEODINT 254
MOIDINT25A
MOBDINT25A
MEIDINT 254
M 2DINT25A
NHSDINT25A
WEEDINT 254
MEZDINT 254
MSEDINT25A
PAGODINT 254

Nylon Washer (DIN 125N}
Supplied in PACK quantltla-s

aTy nT'r

100 MGDIN 125N

100 MNEDIN 125N
H'HII 100 KT ODIN 125K
Spring Washer (DIN 1278)

Supplied in PACK quant'rtie&

aTy

16
M1 E ".-."E
h20
he22
he24

ME-
Ma
M7
Ma
O
12
M4

100
100
100
100
100
100
100
100
100

KMEDIN12TE
MEDIN1ZTE
MSDIN12TE
MEDIN12TE
KT DIN12TE
MEDIN1ZTE
M10DIN1ZTE
M 2DIN12TE
M4DIN1ZTE

MR RRESEE8E8888

NORVE 1258
MHRVS 1254
MERVS 1254
MERVE 1258
NFRVE125A
MERVS 1254
W ORVS1 254
M 2RVE1 254
MI4RVE1 254
M BRVE125A
M ERVE1 254
KMZORVE1 254
NE22RVE125A
NE2ARVE125A
KMETRVE1254
MEORVE1 254
NOIRVE125A
NOGRVS1254
MEIRVE1 254

MNHSRVE125A
M ERVE1 254
MEIRVE1 254

W12 100
R16 100
h20 50

R0
e

12"

25
25
25
W27 25
25
25
25

RM12DIN 125N
RMIGDIN125M
NM20DIMN125M

MIGDIN12TE
MIEDIN12TE
NM20DIN127TE
M22DIN127TE
M24DIN12TE
M2TDIN12TE
RMIODIN1ZTE
T16DIN12TE
12DIN1E7E



Washers & "0’ Rings Large Flat \WWashers

Large Flat (Coach Bolt) Washer [DIN 90214}
Supplied in PACK quantities

DIMEMNSIONS PACK | PART NUMBER GI{ ESE &
1D x OO0 X Depth | QTY F:ARTHU

100 NMODIN9O21A NORVEOQD21A
43x12x1 100 MEDIN9O21A Eﬂ MERVES9021A
ME GAxibxl.2 100 MEDINO21A 50 MERVS9021A
i BdxiBx 16 100 MGDIN9O21A &0 MERVEOD21A
M7 FaAn22n2 100 NFDIN9O21A - -
Mg Badx2dn? 100 MEDINOZ1A 50 MERVS9021A
M0 0Ex30x 26 100 NAODINSO2 14 S0 M ORVS90214
MI1Z 13x3Tx3 100 M 2DINSOZ1A 25 M 2RV ES0214
Mi14  i6x42u 3 100 M4DINSOZ1A 25 M4RVES0214
Mi16  17x50x3 &0 I BDINGOZ 14 25 N BRVEQ02 1A
Mg  20xBEx4 50 B SDINS02 14 25 K SRV ES0214
M20  22xE0x4 50 KE2ODINS0Z 14 25 KEZORVES0Z14
M24  2ExBSxd 25 NEADINGOZ 1A 25 NEARVEOOZ 1A
M30 EZxT0x4 - - 0 NOORVEQ02 1A

Large Flat (Coach Bolt) Washer {DIN 440R)
Supplied in PACK quantities

SIZE | DIMENSIONS PACK | PART NUMBER
10 x 20 x Depth 'l.'.IT'l"

SEx1Bx2 MSDINA4D
ME GGx22x2 'EE MGDINA40
e QuiBu3 25 MEDIN440
M0 NuHxs 25 B ODIN440
M12 fdx4dS5xd 25 M 2D IN440
M4 - 25 MA4DINAAD
Mig 18xBE8x5 25 B GDIN440
Mig  22xBENG 25 B SDIN440
M20 - 25 NE2ODINAAD
M24 - 25 NE2ADINAAD
a0 25 MEODINS40

Large Flat {Coach Bolt) Washer
Supplied in PACK quantities

DIMENSIONS | PACK | PART
am’ | NUNBER

B 2 i
ID x 0D x Do NUMBER

1D x 0D x Deptl

Sx20x1 100 CR520 10 40 50 CRI1D40
Dx2E 1040 CR525 106x60x 4 25 CR105504
Gu2uil 1040 CRE624 12% 30 B0 CR1230
G 2T 100 CREZT 12x 35 50 CR12315
Ex30x 14 100 CREID 12x40x22 50 CR1240
Bx 35 1040 CRE35 13250 x4 25 CR13504
Bx 20 100 CRE20 13x860=x5 CR13605
Bx30x15 100 CRE30 1dxdl=x2.1 25 CR1440
Bx3bxig 100 CRE35 16x40x 23 25 CR1640
10x30x 1.6 1040 CR1030 16 % 45 25 CR164:5
10 x35 100 CR1035

32



Washers & 'O’ Rings Heavy / Shake Proof/ Conical / Copper Washers

Heavy Type Washer (DIN 7349)
Supplied in PACK quantltla-s

b A i i
1D x 0D ¥ Dep GT'I" GT'I" F:ARTHU

GaAxiTund 100 MGDINTI49 100 MGDINT349B

MH Bax2ind 100 MEDINTI4S

M0 105 x25xd 100 N ODINF 39
M2 13x30x8 100 M 2DINF39
Mi4 16x36x86 100 M4DINT349
M18 1Txd0x® 50 M BDINF 39
M8 18244 x8 50 M1 BDINF 39
M20 2ixddxB 25 MEODINT M9
M24 25x50x10 25 NE2ADINF 39

Shake Proof Washer (DIN 6798A)
Supplied n PACK quant'rtie&

BIZE PACK NUMBE t:r: PART NUMBER
Y ary

[
3

100 M DINGT S84 hil 14 25 MM14DINGF A

100 NESDINGTIEA, M1E 25 RMIGDINGT I8 &

Alsas available in Slanbess Saae| ME 100 MGDIN G AR LRl 2% MIEDIMN G 2B
Just repizce DM with RWS g 100 MNEDINGTIEA 20 25 M20DIMN 67 ABA
B0 100 N ODINGTO8A [ s 25 M2Z2DINGTFABA

e MARVEETIEA Mi12 100 M 2DINGTaRA, W24 25 M24DINGTIE A

Nord-Lock Shake Proof Washer
Supplied m PACK quantities

PACK | PART NUNBER PACK | PART NUMBER
aTy ET'I"

0 paars NLZ>2GEL

5 pEErs 'I p- NL24GEL

mu 5 pairs u.mnu. uz? 1par  NL2TGEL

M12 Lpairs  NL12GEL M30 1par  HLIDGEL

M4 Spairs NL14GEL M33 1par  HNL3IZGEL

1 Palr Shown M1 5 pairs  ML16GEL M35 1par  NLIGGEL
M18 Spairs  ML1BGEL hag Each  NL3I9GEL

M20 Speirs  NL2OGEL M2 Each NL42GEL

Conical Spring Washer (DIN 74361)
Supplied n PACK quantltla-s

10 A ODINF4361 Ml 18 RAEDINF4361
M2 :as I 2DIN7 4361 M2 25 M20DIN74 361
Mg 25 MH4DINF4361 h22 25 M22DINF4361
Mg b < M EDINF4361

il il Assortment box of Copper Washers

oW om o m DESCRIPTION PART NHUMBER

= e T Assortment box of Copper Washers, Contains the fllowing:  NOF

i e 30 ef6mm  30ef16mm  25ef24mm 10 of 33mm

S0 of Bmm 2 of18mm 25 of 26mm 10 of E5rmm
S0 of10mm 25 of 20mm 15 of 28Bm -
af1Zmm 80af21mm 10 of 30mm
0ol femm,  25elf223mm 10 of 32mm

33



Washers & "0’ Rings DIM 988 Shims

GH PART
NUMBE

20 25 uzu-m
20 25 142002
14 20 D 3 25 142003
14 20 05 25 142005
14 20 1.0 25 142010

Shims (DIN 988) 14 24 0.26 25 1424025
Suppliad in PACK quantities :: g: ?g i :m
PR f : o i
5 51001 15 22 02 25 152202
- — 15 22 0.3 25 152203
5 m Il3 25 51003 :g g ?;g E :ﬁ
5 10 05 25 51005 — — — — —
3 12 02 25 61202 16 2 05 26 162205
3 12 0.3 25 61203 — — — — —
-] 12 1.0 25 61210 18 =5 D.E =g 162605
71’ o 25 71301 6 2% 10 25 162610
7 13 02 25 71302 — - — — —
7 13 03 25 71303 17 24 0.2 25 172402
7 13 05 25 71308 17 M o3 aE 17240
7 13 1.0 25 71310 17 24 05 26 172405
8 14 0.1 25 21401 —~ - — — ——
] 14 02 25 #1402 18 7 u,:1 25 187501
2] 14 03 25 #1403 18 a8 0.2 =g 182502
8 14 05 25 81405 18 of 0.9 or 169503
] 14 140 26 #1410 18 25 05 25 157505

] 15 o1 o5 91504 :

g 15 02 25 91502 N B B SN S

9 15 03 o5 91503 1B 30 0.25 25 1830025
g 15 05 25 91505 18 a0 0 25 183005
=] 18 1.0 25 91510 18 30 1.0 25 183010
—11 —t — 1 —
10 16 03 25 101603 :: i g'g i :ﬁ:
10 18 05 25 101 605 19 o I]IE a5 192605

10 1§ 1.0 25 104 640 :

10 20 0.25 25 1020025 18 26 1.0 25 192610
10 20 s 5 102005 20 28 .1 25 207801
10 20 1.0 25 gL ] 20 28 02 25 202802
11 17 0.1 25 111701 20 28 0.3 25 202303
11 17 02 25 111702 20 28 0.5 25 202805
11 17 03 25 111703 20 28 1.0 25 202810

11 17 05 25 111705 20 32 0.25 25 2032025
11 17 1.0 25 111710 20 32 0.5 25 203205
12 18 0.1 25 121801 20 32 1.0 25 203210
12 18 02 25 121802 27 30 0.5 25 223005
12 18 03 25 121803 22 30 1.0 25 223010

12 18 05 25 121 805 22 32 0.26 25 2XFN02S
12 18 1.0 25 121810 27 32 05 25 223205
12 24 0.25 25 1224025 e 32 1.0 25 223210

12 24 05 25 122405 24 3 0.26 Each 2434025
12 24 1.0 25 122410 24 o ! 0.6 25 24305
13 18 o1 25 131901 24 34 1.0 25 243410
13 18 02 25 131902 25 36 .1 25 253501
13 18 0.3 25 1319003 25 35 0.2 25 253502
13 18 05 25 131905 25 35 0.3 25 253503
13 18 1.0 25 1310 25 35 0.5 25 253505

Continued on the next page.....

34



Washers & 'O’ Rings DIM 988 Shims

Continued.....
Shims (DIN 988)

P EA S
HUMEE

Supplied in PACK quaniities 45 55 4555“1
mmm- b %
NUMEER 45 ) I:II 3 25 uam
25 35 mm 45 65 1 §) 25 455505
25 H5 45 55 1.0 25 455510
2B 56 !115 25 Elﬁmﬁ 45 55 20 25 455520
5 35 (1R 26 FEI605 45 ) 3.0 25 455530
26 35 14 256 FEIE0 &0 62 .1 25 S0601
28 5B 025 25 FEIBD2S S0 B2 0.2 25 06202
28 A 05 26 ZEI805 &0 62 0.3 25 S0603
28 5B 1.0 25 FEIE10 S0 B2 0.5 25 06205
30 40 025 25 J 0025 S0 B2 1.0 25 06210
30 ET] (1R 26 J04 005 &6 72 3.1 25 SGra0
30 40 14 256 I 0 &6 72 3.3 25 SGTH0G
30 42 01 25 I 20 S I 0.5 25 SEF205
30 42 o2 25 0 202 S I 1.0 25 SEF210
30 42 1 ] 26 J04 203 =] Fi) 0.2 25 GOT5032
30 42 (18] 256 304 205 =] 76 3.3 25 GOT 50
30 42 1.0 25 I 10 &0 Fi-) 0.5 25 BOFS05
32 oA 025 25 J252025 &0 Fi-) 1.0 25 BOFSI0
32 82 (1R 26 325205 =] Fi) 2.0 Each 607520
32 &2 14 256 32510 L=H] BS .1 25 GHAS01
35 45 01 25 354501 &5 a5 0.3 25 ESES03
35 45 o2 25 54 502 0 a0 0.1 25 TO9001
36 45 1 ] 26 354503 T = 1] 3.3 25 T
36 45 (18] 256 354505 T = 1] 1 §) 25 TO900S
35 45 1.0 25 354510 0 a0 1.0 25 TO9010
35 S 025 25 JES6025 0 a0 20 Each 709020
38 =6 05 25 JB5605 i 35 01 25 T50501
pi i3 o 1.0 20 FESE10 Fi aG 0.3 e o950
40 S0 01 25 A05001 5 a5 0.5 25 T59505
40 S0 o2 25 A05002 BD 100 0.1 Each  B010001
A0 &0 1 ] 26 405003 a8l 100 3.3 Each  BO10003
A0 &0 (18] 256 405005 a8l 100 1 §) 25 BO10005
40 S0 1.0 25 A05010 BD 100 1.0 25 2010010
40 &0 025 25 A060025 a0 110 0.5 25 Q011005
A0 =] (1R 26 406005 ai 110 1.0 25 S011070
40 =] 10 256 40600 ai 110 2.0 Each 9071020

Assortment packs of Shims
PART NUMBER

Aszzortment pack of Shims, Confains the following:

25 of 1020026 26 of 1424025 25 of 130025
25 of 102005 26 of 142605 26 of 183006
10 of 102010 26 of 142410 20 af 183010
25 af 1224075 26 of 1626025 25 of 2032025
25.0f 122405 25 of 1626505 25 of 205205
2hef 122410 26 of 162610 20af 203210
Assortment pack of Shims, Containg the following:

5 of 2232025 20 of 263610 25 of 325205
25 of 223010 20 of 2836025 20 of 325210
20 ef 223210 20 of 283505 26 of 3656025
25 ol 2434035 20 of 283510 26 of 365606
25 of 2434060 25 of 3040025 20 of 385610
25 of 2473410 25 of 304005 25 of 4060025
25 af 2838036 20 of 304040 25 of 406006
25 of 2635060 26 of 3262025 20 af 406010

35



‘0" Rings

Supplied in Bags of 10

PART PART
HI.I'lHIH NUMBE HI.II'IH-

1.0 3
10 8
10 8
1.0 10
1.0 16
150 15
1.60 3
1.60 4
150 &
1.50 &
1.60 7
150 7.5
150 A
1.60 9
1.60 9.8
1.50 10
1.50 11
1.60 12
1.60 13
1.50 14
1.50 15
1.500 17
.50 18
1.50 20
1.60 2250
1.60 6.1
1.80 71
1.80 121
1.60 131
1.78 1.78
1.78 257
1.78 2.8
1.78 3147
1.78 368
1.78 448
1.78 5.28
1.78 .07
1.78 635
1.78 675
1.78 768
1.78 7o
1.78 873
1.78 825
1.78 1082
1.78 11141
1.78 1242
1.78 14
1.78 156
1.78 17.16
1.78 1877
1.78 20035

1ﬁ-ﬂﬂ

100R
T100R
T160R
1501.50R
15030R
1504 0R
130508
153060R
1507 OR
15307 50R
153020R
15080R
1508.80R
15301 00R
1301108
150120R
150130R
130140R
130150R
15017OR
1301808
15302008
15022.50R
160610R
1607 10R
1601 210R
1601310R
1FE1THOR
178257 0OR
1FEZ90R
1FESITOR
1FEIGO0R
1rE430R
1FES2HOR
1FEGOTOR
17 E6I50R
1FE6F30OR
17 ETBGOR
1FETOR
1FEETIOR
170 250R
1rE10820R
TFEIIOR
1FET2420R
178140R
1781 560R
1FETMGOR
1FE1ETTOR
1rE20350R

ad

1 ?ﬂ 23.52
178 2512
178 8.7
178 283
1.78 Z8.87
1,78 3147
1.78 33.08
1.78 3485
1.7 38.27
1.78 ar.e2
1.78 3845
1.78 41
1.78 4417
1.78 4737
1.78 50.52
1.7 53.87
1.78 6E.BT
1.78 60.04
178 6322
1.78B 664
1.78 BA5T
178 T2 TS
1.78 75.94
1.78 B2.28
1.78 8862
1.78 85
1.78
20 4
20 B
20
20 B
20 7
20 B
20 9
20 10
20 106
20 N
20 12
20 13
20 14
20 16
20 16
20 17
20 18
20 148
20 20
20 2
20 X
20 23
20 24

‘III'HE‘I‘J'&DH
17E23520R
1r25120R
1ra267TOR
1FE2EI0R
1ra2ae7OR
17E314TOR
17E33050R
1rAM650R
1362 7OR
1TEITEIOR
1ra3IM5S0OR
1r3410R
1784417OR
17847ITOR
1ra50520R
1Fa53670OR
17E56ETOR
17E60040R
1632 20R
1ra6610R
17R6A5TOR
1FEFETI0R
1rF50M0R
17E82280R
1TEEE620R
173950R
17813307 0R
240R

250R
25.50R
260R

27OR
280R
200R
2100R
210.50R
21M0R
2120R
2110R
2HOR
2150R
2160R
2170R
2180R
2190R
2H0R
2HOR
2X0R
2XI0R
2MOR

2.0
2.0
2.0
20
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
2.0
240
240
240
240
240
240
240
240
240
240
240
240
240
240
240
240

36

za
27
28
28
30
31
32
33
Sd
35
36
37
38
40
42
43
44
45
46
47
S0
B4
55
56
58
Bd_5
68
70
T4
B0
85
86
a0
140
53
43
L
B3
Tk
B3
a3
1003
11.3
11,8
12.3
133
14.3
16.3
16.3
17.3

HEGR
2TOR
2280R
2H0R
ZI00R
Z30R
2320R
ZI0R
ZMOR
2350R
2ZI60R
ZITOR
2380R
2400R
2020R
20008
2440R
2450R
20608
24T0OR
2500R
2MOR
2550R
2560R
2580R
264.50R
26E0R
2F0oR
27T40R
2E0OR
2E50R
2B60OR
20008
21400R
240330R
240430R
200530R
200630R
2007 30R
200830R
240930R
24010308
2001130R
2401MB0R
2401230R
2001330R
2001430R
2401530R
2401630R
20017 3I0R

Continued on the next page

2 40
240
240
2.40
240
240
240
240
240
2.50
250
250
2.50
2.50
250
250
2.50
2.50
250
250
250
250
250
2.50
2.50
250
250
2.50
2.50
250
2.50
2.50
250
250
2.50
2.50
250
250
250
250
2.50
250
250
2.50
2.50
250
250
2.50
2.50
250

A0 183
18,3
203
213
23
253
273
30,3
il
3.8
5

L]

T

8

|

10
1
12
13
14
15
15.5
16
17
18
18
20
21
23
24

SEEBEELEEHEEYE N

Washers & 'O’ Rings ‘0" Rings

2401830R
2401930R
24020708
2402130R
2402330R
24025108
24037 3I0R
2403030R
24033 10R
240 M 6OR
25050R
250608
250TOR
250B0R
25090R
2501008
250110R
250120R
250130R
2501408
2501508
2501550R
2301608
25017 0OR
250180R
250190R
2502008
2502108
250230R
250240R
2502508
25027 OR
250280R
2503008
2503108
250320R
250330R
2503508
2503608
2503T0OR
25038 0R
250390R
2504008
2504408
250450R
2504608
2504908
2505008
250550R
250600R
25063108



Continued.....

‘0" Rings

Supplied in Bags of 10

A
HI.I'lHIH

250 &4
260 66
250 70
250 75
250 TR
250 85
260 95
260 13
282 600
2 B2 919
2E2 002
282 1078
282 11.91
262 1237
262 127
282 131
282 1385
262 1608
262 1654
282 1588
282 1713
2BZ2 17886
282 1872
282 2029
282 20063
282 2189
282 22722
2 B2 2347
282 2381
262 26.07
2 B2 2664
262 2824
282 2082
282 3142
282 33
262 3459
262 3617
282 ATTT
2 B2 3954
2 B2 4085
2 B2 4252
2E2 4412
2 B2 4569
282 4729
2E2 489
262 5047
282 5207
2 B2 5364
262 5626
262 5682
2 B2 5842

Eﬂlﬁﬁﬂﬂ
2507 OR
2507 S0R
2H0TH0OR
250850R
250950R
260130R
26260208
26201908
2629920R
26210720R
26211010R
261 2ITOR
26212TOR
2621 10R
2621 30950R
26215080R
26215540R
26215880R
2621 7130R
2621 7FAROR
26218T20R
26220200R
26220630R
2621H90R
2622320R
2622 UTOR
26223R10R
262250TOR
26226640R
2622HIOR
26229820R
2623 120R
262310R
26234590R
262FE1TOR
262IFTTOR
26210M0R
26MD050R
26 2520R
262441 20R
262 5600R
26 7HO0R
2624 890R
2625 TOR
2625207T0R
26257640R
26255250R
26256820R
26258420R

ad

Washers & 'O’ Rings ‘0" Rings

PART
NUMBE HI.II'IH-

262 80
262 616
282 BT
2082 BATT
262 5634
282 BTos
242 5962
282 T112
282 T27T
262 743
242 To.8T
262 BB
282 g22>2
262 838
262 8867
282 Ba 53
2682 10127
282 1086
282 10783
282 12053
2082 12667
2062 137
282 15207
282 15841
282 17747
282 196.53
30 4

30 5

30 &

30 B

30 9

30 10
30 12
30 14
30 15
30 18
30 17
30 18
30 149
30 A
30 M

30 26
30
a0
30 2432
30
30
a0
30
30
30

N

SEENER

IH-EH-'I]DR
26261608
26263170R
262647 TOR
26AHGII0R
2626TO50R
26269570R
262T1M20R
2627 ITOR
2627 410R
262TSETOR
2623060R
26232270R
262H3R0R
262HESTOR
26294030R
262101270R
26210608
262107 630R
261 20330R
2621 26670R
2621 ITOR
2021 520F0R
262152410R
2E21TT4TOR
262196530R
MOR

J50R

J60R

JROR

J90R

J100R
120R
JHOR
J150R
JM60R
JToR
J180R
J190R
JHOR
JIHOR
FS0R
JX0OR
JXI0OR
JMIOR
J20R
JHOR
JXFOR
J2HOR
J290R
JTHOR

3.0
30
30
3.0
30
3.0
3.0
30
30
3.0
30
30
3.0
3.0
30
30
3.0
3.0
30
30
3.0
A0
30
3.0
3.0
30
30
3.0
3.0
30
3.0
3.0
30
30
3.0
3.0
30
30
30
30
3.0
30
30
3.0
3.0
30
30
3.0
3.0
30

37

31 5
52
33
34
345
35
36
37
38
38
40
41
42
43
A
45
46
47
48
485
505
-
53
545
55
555
S5
57
58
sS85
602
62
54
Bd_5
66
68
B35
TZ
T4
Td.5
78
TS5
B2
83
845
8y
88
895
845
86

Iil‘lDR
F3150R
T20R
IXI0R
IMOR
TMS0R
J350R
J360R
IITOR
TIR0OR
FOR
J00OR
H10R
MI0R
HMI0R
J0R
JS0R
HME0R
MTOR
JEOR
Ja50R
J5050R
1520R
I5I0R
IM50R
I550R
15550R
A560R
3I57TOR
J580R
J5050R
IE00OR
IEI0OR
J60R
J6450R
IG60R
JEEOR
JE050R
Ir20R
IT40R
Ir450R
ITREOR
Jras0OR
JE20R
JEIOR
JE450R
JETOR
JEROR
JE950R
I 50R
J060R

Continued on the next page

3 ﬂ

a0

a0

3.0

a0

30

30

a0

a0

30

a0

a0

320
350
A50
350
350
350
A.50
A.50
S50
350
350
350
350
A50
350
350
350
350
<fl=w
<fl=w ]
A55
S55
<fl=w
<fl=w ]
A55
S55
S55
S55
<fl=w ]
A55
S55
<fl=w
<fl=w ]
A55
S55
<fl=w
<fl=w ]
S55

10?
112
1195
128.5
136
1385
150
154
160
200
20
225
25

15

18

BAdHEEREEEBHENE

3%

10,68
18,64
2022
21.82
234

24,88
258

26.58
2817
2875
3.3
2 95
S4.52
A

3768
&9 89
40 87
41,28
42,86
440

J10EOR
J0TOR
J1120R
J11950R
H2eH0R
J1IG0R
J13IR50R
JS00R
J1H0OR
J1E00R
J2000R
JHI0OR
J2250R
J20230R
JS0160R
J50180R
502008
J50220R
J50230R
J502E0R
5032 0R
J50I0R
230508
505508
J50590R
JS0630R
J50T50R
J507TOR
JS0EI0R
J501190R
5017 00R
353106908
353186408
520 0R
A5 820R
J53TIM0R
35324990R
J5I2580R
J5326580R
J5I2R1TOR
J5I20T50R
35331 HMOR
J5F2930R
J5TM520R
3533610R
353FTE90R
J5I539600R
J5HM0EFOR
35341 280R
353428608
54 MOR



Continued.....

‘0" Rings

Supplied in Bags of 10

PART PART
NUMBER NUMBE HI.II'IH-

353 14862 353143&2“1 4.0

353 4405
353 4446
353 46804
353 4722
3.53 4821
353 504
.63 S08
363 524
353 53587
353 53488
.63 S6.56
353 5675
353 5715
363 SB.T4
.63 S9402
353 6033
353 6191
3.63 631
.63 6609
353 6827
353 6826
353 6044
353 53085
353 T144
353 Tie2
3453 T3.03
353 T4.81
353 758
363 Taay
363 8214
353 B5A2
353 BE48
3.63 91.67
353 D484
353 |02
3453 1M.2
363 104.37
353 11072
353 11388
353 1138
353 1707
353 120024
353 12075
353 12342
3453 12660
363 12077
353 13254
353 13812
353 13020
3.63 14247
353 14554

IEMA050R
IHMS0R
IrMEMOR
IEMF20R
FHHMOT10R
I35 0R
I535080R
ISISMOR
IE5IGTOR
IEI5INE0OR
I5IS5560R
5567 S0OR
IEIST150R
I5358T40R
I5359920R
IEIE0I0R
IEME1010R
ISFEIOR
I5IES090R
JEIEEITOR
JEIGEIGOR
J5IGHA0R
IR I0R
IET HM40R
ISGTAEI0R
ISITI0FOR
IEITAG10R
507 SR0OR
ISITRITOR
ISIEN40R
IEIESI20R
JEIERI00R
ISINETOR
I54R40R
JI5IE020R
WM IOR
IEITMITOR
IEM10720R
I5113890R
I 1190R
IEM170FOR
ISI12040R
531 20250R
I FM20R
I5G126590R
ISI129TTOR
I I2MOR
I 36120R
I53139290R
II14247T0R
IE145640R

353 15834 35MSEMOR

H535 180
555 201
40 B

40 9

40 10
40 11

40 12
40 14
40 15
40 18
40 17
40 18
40 18
40 20
4.0 24
40 25
40 30
40 32
4.0 33
4.0 34
4.0 35
4.0 38
40 37
40 38
40 40
40 41
40 42
40 43
4.0 44
40 45
40 47
40 48
40 48
40 80
40 82
4.0 54
40 55
40 57
40 58
40 &8
4.0 B0
40 B2
40 63
40 64
4.0 8BS
4.0 BE
40 &7
40 68
40 V0

ad

A5 ROOR
520100
480R
490R
4100R
4110R
4120R
4HOR
4150R
4160R
4170OR
4180R
4190R
4H0R
4MOR
4250R
4300R
4120R
41I0R
4HOR
4350R
4J60R
4370OR
4380R
4A00R
410OR
4470R
4430R
4HOR
4450R
4470OR
4E0R
H90R
4500R
4520R
45H0R
4550R
4570R
4580R
4590R
4600R
4620R
4630R
4640R
4650R
4660R
4670OR
4680R
4T00OR

4.0
4.0
4.0
4.0
4.0
4.0
4.0
4.0
4.0
4.0
4.0
4.0
4.0
4.0
4.0
4.0
4.0
4.0
4.0
5.0
5.0
50
5.0
B.0
B0
5.0
5.0
B0
B0
5.0
5.0
B0
5.0
5.0
B.0
B0
5.0
5.0
5.0
5.0
B0
5.0
5.0
B.0
B0
5.0
5.0
B.0
B0
5.0

38

?4
75
Te
78
a0
82
a5
|0
a2

48
110
120
135
140
142
160
168
15
16
17
12
20
22
23
25
26
0]
532
35
40
45
Al

1)
&0
65
iy
T2
73
75
78
a0
85
|0
a2
a6
100
104

d?IDR
4730R
4TA0R
ATH0R
ATGOR
ATROR
4B00R
4820R
4B50R
40008
4920R
40 0R
40R0R
41100R
41200R
41350R
41400R
41420R
41600R
41660R
S150R
S160R
J1TOR
S190R
S200R
S2I0R
SZI0R
S250R
S260R
S300R
SI20R
SAH0R
S400R
SA50R
a500R
SHMOR
S550R
SG00OR
SEHOR
SrNOR
Sr20R
STI0R
SrH0R
STEOR
SE0OR
SESOR
SO00R
SO20R
SR50R
S1000R
S1080R

50 15'!
50 160
50 400
D33 3747
535 4065
535 4582
533 47
533 5016
S35 5534
533 5652
533 5988
535 G287
533 6604
533 6922
533 7238
535 T4.63
533 7a.57
535 TaT4
533 TATT
533 B1.E2
555 B5.08
53 BRET
535 Bd 62
533 100
£33 10097
535 10414
535 10732
533 1095
533 11048
533 1367
S35 11684
533 7.6
533 1207
533 12383
533 13271
533 1334
533 1358
533 185
533 1307
533 137
533 14224
535 14541
S35 1481
533 14845
5233 181.77
533 15811
533 1677
533 17082
£33 18087
55 TO

Washers & 'O’ Rings ‘0" Rings

STI0OR
$1500R
S1600R
SA000R
S33ITATOR
FXM0GE50R
S3343820R
S3347OR
FII50160R
FISTHMOR
S3356520R
SII50690R
SIIE2ETOR
S3366040R
S3360220R
SXT2XHOR
SIITA6I0R
S33THSTOR
S33TET40OR
S1TATTOR
SIIE1920R
SIIES000R
SNIBETOR
S G20R
S331000R
$33100970R
S04 140R
FIM07I20R
$3310950R
S33NMM490R
FIXM136TOR
FIMT16E0R
S3INTIOR
SIM2070R
SIM2IEI0R
S33132MOR
S3313HOR
FIMIM0OR
FI13650R
FIM319070R
SIMI9TOR
$3314240R
FIM410R
FIM410R
$33148490R
S33151FTOR
FI5E10OR
JIMGTTOR
S33170820R
S331898TOR
S5F00R

Continued on the next page.....



Continued.....

‘0" Rings

Supplied in Bags of 10

PART PART
NUMBER NUMBE HI.II'IH-

ad

Washers & 'O’ Rings ‘0" Rings

570 352 SrII520R ETI}HEDR ¥ 1583 5?1]1593DR a8 1454 69914540R
BT0 362  ST03620R 5 :"l:l 31.2 SFog120R E.T-‘l:l 1693 S5T016930R 699 1486 G9914860R
570 372 SrII7F20R S50 82.2 ST08220R 570 174.3 ST017430R 583 1518 69915180R
570 332 SrII9Z0R S0 841 STOE410R 570 1783 SN017F0R 583 1556 G9915560R
570 412  5A04120R 570 872  STORTIOR 570 184.3 57018430R 6988 1581 G9915810R
570 442 M4 20R S0 881 ST08010R 570 1883 S7018930R 583 1585 6G9915950R
BT0 462  STM4520R 70 812 S5F094120R ETD 1843 STO1S30OR 699 1619 69916190R
BT0 472  STMTIOR 570 822  ST09220R B0 1883 ST019930R 699 1645 69916430R
570 432 S 920R S0 841 ST09410R 570 204.2 ST020420R 583 1667 G0016670R
570 512 Sr05120R S0 972 ST0a720R 6.0 48 G4E0R 583 1683 G9916830R
BT0 623  ST05230R 570 891 ST09910R 6.0 S 6500R 680 1746 69917460R
570 542 Sr0s420R S0 1012 S7F0101 20R 5.0 S0 GONOR 83 1772 690177 20R
570 55 Srnss0R S0 1041 ST 10R 5.0 100 G1000R 688 181 GO91810R
BT0 682  S705920R 570 10841 SP0M0810R 6899 1137 B99113FOR 690 1809  6991E990R
BT0 612  ST0G120R 570 1143 SP0M1430R 6899 1147 69911470OR 699 1937 69919370R
570 623 5706 2I0R S0 1183 SF01930R 588 1232 68012320R 583 1862 G0O19620R
570 642 Sr0e420R 570 1243 57024 30R 5558 1264 6O012640R 583 2028 G0020260R
BT0 672  STOGTIOR 70 1203 SPM2030R 6599 1296 60012050R 600 2080 G9920890R
B70 622  ST0G920R ET0 132 SFM320OR 689 1327 600132TOR 600 23707 GO922F0TOR
570 712 07 120R S0 133 57013 I0R 588 1345 6013450R 0 70 TTOOR
570 722 ST 220R 570 133 SF03EI0R 588 1358 68013500R 80 60 BEHDOR
570 742 2P07420R 570 1483 SPM493I0R 658 1381 B0013910R
B0 TTZ2 SFOFr20R S0 15435 ST015I0R 658 1422 09914220R
‘0" Ring Rubber
Sold per METER
TG LT T I
1FE1000OR SAT000OR
2 20010000/ 5.?0 STMoD0oR
240 24010000/ G GO OD0OR
252 ZHZ10000R 6.98 GO 0D0OR
3 0010000/ ] BEOOOD0OR
363 357100008 id 10001 0000R
4 400 10000R 16 16001 D0 0OR
5 SDO10000R
‘0" Ring Rubber Assortment Box
Round O-Ring DY kit
PART NUMBER
Asgorment box of T Ring Rubber - Din 472 SER004
Contains the follcwing
Thickness Gauoe
Adhesive
2 Meter long roend conds of
o178 v, Jhed & 24 @ 262 &30
[l B [« ¥ K| (4.5 @ 6.0 & 5,34
5.7 @50 & 7.0 & 8.0

39



Washers & "0’ Rings ‘0" Rings

Assortment box of 'O’ Rings - A

PART NUMBER
Assortment box of T Rings - 330 pleces NOSOR
Contains the folowing:

2al1.78x2 8 10of 1,78x158  §of 26202020
DefiToGea & of 1,787 AT Sof 26202180
20 oFT.7Bxd 4B 5 of 1.7Bx1B.77 5 of 2622347
Hoof 178528 15 0f 2822818 5§ of 3531064
20 ef1Teeg 0T 16 of 262¢1237 5 of 3532022
2ef1.TexT e 6 of 2621237  §of 3532182
20of178BB25 5 of 262x13.85 5of 3552340
16ef 1 TRADED 10 of 26201664 & of 36532499
WHof1 7Rl 2d2 10 of 2521713 5 of 3532858
20 af 1.78x14 10of 26201872 & of 3532817

Assortment box of '0O' Rings - B

DESCRIPTION PART NUMBER
Assortment box of 10° Rings - 275 pleces NOGOR
Confaing the following:

10 ef 172036 10of363x34.59  100of 35634404
15 of 1.78x2185 150f 3532875 100of 35342 27
180f 2022607 16 of 3633124 100l 363004

15 of 2622665 16 of 26332892 100l 36337 47
15 0f 2622842 10 of 3.55x34.52 10 0of 35340 65
1502652382 10 of 3553610  1000f 3. 53543 82
10ef2623142 10of363x3TH & of 363470

10ef28&33.0° 103624087 & of 3636017

Assortment box of 'O’ Rings - C

PART NUMBER
Assortment box of T Rings - 425 pleces SES010
Contans the followmng:

20 oF 1 530 15 of 2.4x6.3 100F 3 Ge1 000
206f15:50 15024483  106f3.06120
06f1 870  15cf24x113  106f3.06140
20 of 1580 15 of 2.4x13.3 100f 3 (1500
20.0f1.5:11.0 15 of 242173 100F 3 (180
0620460 15025650 5 of 306202
Moof 2.0:8.0 15 of 2 5x7.0 5 of 30222
20 of 20500 15 of 2. 5x10.0 5 of 30242
Mef200020 150250120 5 of 3.04262
206f20:140 156250150 5 of 304302

Assortment box of 'O’ Rings - D

PART NUMEER
Assortment bax of 0" Rings - 285 peces
Contams the loliowng
15 ol 2.0:18.2 16 of 400250 10of 4 0480
15 of 20200 15 of d.0x30.0 10 of 4. 0eB0.0
15 of30=22.0 15 of 4.0x32.0 10of 5. 0250
10 o3 025 0 16 of 400340 10af 03000
15 af 303832 16 of 400360 10af 6.0x35.0
15 of N 0502 10 of 4.0x38.0 100of 5.0ed 0.0
10 of 30wE2.2 10 of . Owd 0.0 5 of 5.0ad 5.0
10 ef 20x38.2 10 of 400440 S af B.0xb0U0

40



Clips & Pins Internal & External Circlips

Circlips (DIN 472 and DIN 471)
Supplied in PACK quantities

PACK | INTERMAL CIRCLIP | PACK | EXTERMAL CIRCLIP
aTy | DIN 472 aTy | DIMN 471
PART NUNMBER PART NUMBER
10 ASS
10

5
&
7 10 AST
B 10 HUISE 10 ASE
k] 10 HUIS9 10 AS0
i [1] id HUIS10 10 AS10
11 10 AS11
12 10 HUIS12 10 AS12
13 10 AS13
14 id HUIS14 10 AS14
i5 1 HUIS1S 10 AS15
18 10 HUIS 16 10 AS16
ir id HUISAT 10 AS1T
1B 10 HUIS18 10 AS18
18 10 HUIS149 10 AS519
20 id HUIS20 10 AS20
21 10 HUIS21 10 AS21
22 10 HUISZ2 10 AS2Z
2 id HUIS23 10 AS23
24 10 HUIS24 10 AS24
25 10 HUIS25 10 AS25
28 id HUIS26 10 ASIE
27 10 HUIS2T 10 AS2T
2B 10 HUISZE 10 AS28
28 id HUIS24

Internal Circlips DIN 472 g :g ﬁ:g }g :Eg
4 10 HUIS34 10 AST4
35 10 HUIS35 10 AS35
5 10 AS36
- ) (1] HUIS3T
=B 10 HUIS3E 10 A58
it 10 HUIS349
40 (1] HUIS40 10 ASA0
42 10 HUIS42 10 AS42Z
45 i [1] HUIS45 10 ABAS
47 (1] HUIS4T 10 ASAT

- 48 10 HUIS4E 10 AS48

External Circlips DIN 471 0 10 HUISS0 10 ASS0
Bz (1] HUIS52 10 AS52
55 10 HUIS55 10 AS55
&6 i [1] HUIS56
=7 (1] HUIS5E 10 ASSE
&0 10 HUISE0 10 AS60
&2 i [1] HUIS62 10 ASE2
a5 (1] HUISES 10 ASES
&8 10 HUISEE
Ta i [1] HUIST 10 ASTO
T2 L[] HUIS72 10 AGT2
Fi id HUISTS 10 ASTS
T 10 HUISTE
BD 10 HUISE0 10 ASED
] Each HUISES Each ASES
a0 Each HUIS9M0 Each ASG0
a2 Each HUIS92
a5 Each HUISSS Each AS95
100 Each HUIS100 Each AS100
110 Each  HUIS10
112 Each AS112
120 Each HUIS120 Each AS120
125 Each HUIS125
130 Each HUIS130 Each AS130
140 Each HUIS140

41



Clips & Pins Internal & External Circlips

Assortment box of Internal Circlips - Small (DIN 472)

=—==4 PART NUMBER
] Assortment box of Internal Circlips - Din 472 MO
Contains the foowing:
PR 20 % HLIST A0 HUIS20 15x HUIS30
20% HUISTZ 15 x HUIS22 10x HUIS32
20w HLIS16 16x HU|S24 10 HUIS3
20w HLNS1E A0w HUIS25 10x HNS3E
20 % HUIS18 15 x HUIS26 10x HUIS38
20x HLIS:S 15 x HUIS28 10x HUIS40

Assortment box of Internal Circlips - Large (DIN 472)

=

| PART NUMBER
' Assortrment bax of Internal Clrclips - Din 472 NOZ
Contams the folgmng
10% HUIS42  10x HUISB2  5x HUISES
10 = HLEIS45 10 HUISSES 5 x HUISEE
0% HUIS4?  10x HUISBD  5x HUISTO
0% HUISS0  10x HUISE2Z  5x HUIST2

Assortment box of External Circlips - Small (DIN 471)

— PART NUMBER
{ Aszortrent box of External Circlips - Din 471 L
) Contains the foliowng:
20 AS10 A0 ASH) 15 AS30
20 & AS12 16 AS22 10% AS32
20 % AS15 1% AS24 10% AS34
2w ASS 40 ASIS 10x ASES
20x AF18 15« ASHG 10x ASIR
20 % AS1S 164 ASZE 10% AS40

Assortment box of External Circlips - Large (DIN 471)

H

k
—gm———
-

! PART NUMBER
| Assortment bei of Extarnal Clrellps - Din 471 NO4
: Contains the folguing:

10 x AS4Z 10 ASEZ 5 ¥ ASE2

10 % AS45 10x ASES 5% ASE5

10 % ASAT 10x ASES 5x ASTO

10 x AS50 10 ASED S5 AST2

42



Clips & Pins Axle and Starlock Circlips / Half Moon and 'R" Clips

Axle Circlip - "E' Clip® (DIN 6799)
Supplied in PACK quant'rtie&

23 mm
4 mm 1II:I 1I:II mm 1D umm
& mm 14 umua 12 mm 10 679912
& mm 10 GGG 15 mm 10 679915
Tmm 10 GFOanF 18 mm 10 679918
Bmm 10 GF9908
Starlock Circlip
Supplied n PACK quantltla-s
5 e
4mm 100 14 mm ELC14
& mm 100 BLI.'HIB 15 mm 25 BLC15
Bmm 100 SLCOE 16 mm Each BLC16
8mm 100  sLCO9 17 mm 25 sLCH7
10 mm 100 SLC10 18 rmm Each SLC1E
12 mm 50 SLC12 20mm Each SLCM
Half Moon Clips
il
i}
P!
10 PI:IIHB
1IZI a0 POO30
8 a0 POO31
-
Single ' R ' Clip Double ‘R*Clip ___
E'EIMI
2 Poo02 2
- POOD3 3 PIIIIB
4 POOOL 4 POO13
5 PO0DS 5 PO00g
B POO12 B PO010
7 POOOE 7 POO11

43



Clips & Pins Roll Pins

Fart numbers marked in Red are also available i Stainless Sies|
Just place B atter the Part Mumber

. GHA0RVS

Roll Pins (DIN 1481)
Supplied in PACK quanfities

FN:H PART I:H F‘A’GI{ PART
Hil.l I'||I'|'| HU NUMBE

2xM Bx 50 25 10 80 1080
2u 26 1"5 B ¥ 60 5 10 = 80 25 1060
2x 30 25 IJ{SI]' Bx 70 5 ﬁ.‘.l{?l]' 10x 100 25 10100
26x30 25 212%30 6w B ) X E0 10x 1200 25 10120
3x10 25 T10 Bx 80 5 X090 10x 140 25 10140
3x16 25 TE16 Bx 100 5 X100 1M1 =70 25 11XT0
3x20 25 20 BSx3G 26 B12X36 11 w80 25 11%E0
322 25 a2 BSxTD 26 B12XT0 11 w80 25 11%90
3x 26 25 TG Tx10 5 TE10 Mx100 25 11100
3x30 25 T30 Tx 30 5 T¥XI0 12x 40 25 12440
332 25 Iz Tu36 5 TH36 12u 45 25 12%45
336 25 K36 Tudd ) T¥AD 12x 50 25 1250
3x40 25 TEAD Tud5s 5 THAS 12x 60 25 12460
35x M 25 JM2KM T 50 5 TS0 12x 85 25 12465
36x40 25 312%40 Tubb ) TS5 12u 70 25 1270
4x10 25 4X10 T x B0 5 TEBD 12x 80 25 12480
4x 16 25 4X16 TxB5 5 TEBS 12x 80 25 12400
420 25 4¥30 a7l 6 T 12x 100 25 12X 100
4% 24 25 43X ¥ » B0 25 THED 122 120 25 12¢120
4% 30 25 40 Tx 80 - a0 2% 140 25 124140
4% 36 25 406 T 100 5 TE100 135 50 25 1350
440 25 4¥40 By 30 5 EX30 13x 55 25 13X 55
4545 25 4¥45 B 40 ) EX40 LEEL - 25 13X60
4 x50 25 4650 Bx 45 5 B¥AS 13x 70 25 1370
480 25 X 60 B GO 5 XS0 13 % 80 25 1380
GBx10 25 S¥10 By G5 ) XS5 13 %80 25 13%80
Gx16 25 K16 8x B0 5 B¥60 132100 25 13100
Sx20 25 S Bx B5 5 BXES 13x 1200 25 TX120
B 24 25 X4 By 7O 5 BXT0 14w 6D 25 14X60
Gx28 25 SxE By TG ) BXTS 14 65 25 14 XG5
Sx30 25 S0 8x 80 5 a0 14 FO 25 14X7T0
Gx 36 25 6 Bx 80 5 200 14 80 25 T4XE0
G40 25 S¥40 B 100 ) EX 100 14 w80 25 1480
Ex45 25 S¥45 By 120 ) EX120 14100 25 14X 100
5x50 25 S50 x50 5 W50 16 10 25 1610
BxB5 25 ELEE] B B0 25 HXE0 16 u 40 25 16X40
S5x 80 25 SX60 Sx B0 5 a0 16 50 25 1650
BxT0 25 S¥T0 B B0 5 Ax90 16 x 60 25 16X60
Gx B0 25 SXE0 100w 20 ) 1020 16x 70 25 16X70
Bx 25 L] 10 30 5 1030 16x 80 25 16XE0
B 24 25 i 1040 5 1040 162 1000 25 164100
Bx 26 25 Y26 1045 5 1045 16x 1200 25 16X120
Bx 30 25 Y30 100w B0 ) 10 S0 16x 140 25 16X 140
Bx 32 25 32 10x 55 5 1055 2Mx100 25 2716100
Bx 36 25 16 10 80 5 TEED 2x130 25 21¢130
B x40 25 X A0 100x 65 ) 10K ES

Bxdh 25 A5 1070 5 TETD



Clips & Pins

Roll Pins / Spiral Pins / Expansion Bushes

Assortment box of Roll Pins (DIN 1481)

NO1E

(OESCRIPTION | PARTNUMEER
Aszzortment box of Roll Pins - Oin 1481

Containg the folowing

a0 of 2230 50 of 5X40 10 of 8240

50 of 3230 25 of 5X50 10 of 8450

50 af %20 30 of SXE0 10 af B¥B0

S0 of 42430 20 of BX50 10 of 8480

25 of 4240 30 of EXB0 5 of 1040

50 af 4X50 10 of THTO 8 af10XE0

Spiral Pin (DIN 7343)
Supplied in PACK quantities

I il I s

4220
4 2 50
4u 40
Su20
S &0
Su 40
Sx&D
Hx 60
e 50
x40
Bx 50

RERRERRBEER R

A20DINT 343
AI0DINT 343
440DINT 343
S20DINT 343
SIODINT 343
SA0DINT 343
SS0DINT 343
SE0DINT 343
GI0DINT 343
B0DINT 343
GI0DINT 343

G x B0
Bx V0
By &0
B« 60
Bx 7D
B« B0
10w 50
100 70
100 B0
12x 70

Expansion Bushes (DIN 14398

SIZE {mm)
D oo

eSS E MR RREEE
EEEEEEEEBEEERRYRBEBERE

111] NUMBER

SERBEEREEREEEEHNEREEES

202410
202420
202620
252816
2573225
253230
25427
2534738
283540
303220
203230
J0IEIS
203240
03250
J0IRES
304020
204040
J24020
324025
J240:30
J24040

45

Eath
Each
Each
Each
Each
Each
Each
Each

GEHODINT 343
GTODINTI43
BS0DINT343
BEODINT343
ETODINT 343
BRODINT343
105001 N7 343
1070DINT 343
1080DINT 343
12F0DINT 343

Il el

BBERRBELEEEEBRERARRER

43
43
45
45
45
45

SRR EBERESEE S

BEBEJEBEE88RELBEBBEEE

S‘MHW
354340
3534350
3534530
354540
354550
JeA645
405030
405035
405040
405050
455540
06030
S06050
SH6540
SH65T0
GOF0ED
GO7 240
BO7 260



Clips & Pins Split Pins / Linch Pins / Pipe Pins

Split Pins (DIN 94)
Supplied in PACK quanfities

PACK | PART PACK 'EI{
ET'I' NUMBE ﬂ'l"l" HI.I'lHIH HI.II'IH-

1.6x18 ﬂ’152l] S 2w 36 SP3.236 B.3xd5 El]
2x12 1i.'l|:| PS5 3256 1l:|l:l SP3.256 BaxbE8 &0 EFHI.'I
Zx18 100 SP220 428 100 SP430 B3x63 &80 EPETD
2% 28 100 SP230 4 x 36 100 SP440 B3xB0 &0 SPGE0
2x 32 100 BP232 4 %45 100 SP450 T u B3 S0 BPFT0
2xdb 100 EP250 4 ¥ 56 100 SP4ED Tx 80 50 SPTE0
2Bx18 100  SP2.520 4.5x 50 1000 SP4.550 B x40 =0 EPa40
2Bx 28 100  SP2.530 Sx2B a0 SP530 Bx 56 =0 SPAG0
2 5x 50 100 BP2.555 Hx 36 il SP540 8x 80 S0 P340
25x 56 100 EP2.560 Hxds i SP550 10% &3 50 SP107D
2BxB3 100  SP2.565 SxE3 a0 SP5TD 10x 80 =0 EP1080
3zx28 100 SP330 Sx 80 a0 SP530 10x 80 &0 EP1090
Assortment boxes of Split Pins
PART NUMBER
Aszorment box of Split Ping, Containg the fllowing: NO13
100 of 1 632 50 of 3.2x40 100F 6. E3
100 of 2.0:32 25 of 4, 0wdd
78 of 26«40 15 of 5,050
Aszzortment box of Split Pins, Contains the following: HNO15
00 of 1.628 50 of 3. 2«36 10 of B. 3556
100 of 2028 B of 4 0wds
76 of 26440 A of 5,045
Linch Pins
R e
{rmim Irechy
‘8 14 g 1 304 P334
8 s 38 112 P33

1 THe 44 1384 P38s5
Lim:h Fins clw Chain

A e i
I'I'I'I'I L

1142
SJ'E 43 1.7 EED FIJDH

Pipe Linch Pins

il b
(i
10 &0 POOZS

46



Clips & Pins Assorted Pins & 'R’ Clips / Clevises

Box of Assorted Pins & 'R’ Clips
Each box containg 10 bags of assorted pins and dips
Each bag contains the following:

——— g% 2mm 'R Clp S 1/47 Linch Pin
SEE x 10 1% smm'R CRp S 38 Linch Pin
=5 = 10w 4mm "R' Chp 10w ¥ME" Linch Pin
- S Smm'R' Chp

B of assorted pins & chps ZPK1

ID 1 | ]dz O ]E
]
L
Clevis
Bl Sl il P P P PO il
SIZE d1 L1
& 24 12 ANF 166
I'I.IH H 15 42 a2 14 12 16 ANF16E
M0 10 20 -m 52 40 18 15 20 ANF1610
M12 {2 24 12 B2 48 20 18 24 ANF 1612
M4 14 27 14 L4 58 24 225 o ANF1614
M16 i - 16 B3 B4 2 24 v d ANF1616
M5 5 12 B 43 36 10 a 24 ANFO524
M8 8 16 8 = 48 14 12 2 ANFOE32
M10 0 2 10 72 &0 18 16 40 ANF1040
M1 12 24 12 BE T2 20 18 48 ANF1248
Etandard Clevis Pins
Pl R P P PR il
- L
18 2 ANPOG
23 1HE 2 ANPOZ
— m 28 215 245 3 ANP1D
.|| 12 3% 285 285 3 ANP12
b 4 44 31 326 4 ANP14
[t 18 45 38 375 4 ANP16

Leckable Clevis Pins

il PO PR O PO il

& 14 |

8 12 M E mm
L] 23 45 34 10 ANC10
12 28 &5 48 12 ANC12
16 o T2 18 ANC16

g 14 40 35 L: ANCDEZ4
8 13 a3 47 8 ANCOES2
L] 23 65 54 10 ANCTMD
12 28 78 7 10 ANC1248

47



Shafting, Collars & Keys shafting

Nylen Shafting
Supplied in 1000mm lengihs

MATERIAL | SOLID
NYLOMN SHAFT H‘I"L'CI"I SHAFT
PART NUMEBER PART NUMBER

16 HL16

18 ML1E10
20 F'AE HL20 1'.'I HLZ010
25 Pag HL25 10 HL2510
50 PAS NL30 15 NL3I015
50 PAS 20 NL30M20
35 PASGE HNL35
6 PASE 16 ML3G16
36 PABG 25 HL3625
40 PASE NLAD 20 NLAM20
40 PASE 50 MNLAMXI0
45 PasG HL45 25 HL4525
45 PaGG 30 HL4530
50 PAGE NL50 20 NLS020
50 PASE 40 NL5MO
58 PAGG 35 HL5635
&0 PasG L&D 30 HLBO30
68 PASE 40 MNLEG40
Lt PAGE HNLFD 40 NLFMO
75 PasG 40 HLT540
B0 PASE NLED 40 NLEMO
a0 PASE NL90

100 FAGG ML

120 FPAGGE HL120

I PAGE 100 NLATO100

Non Ferro Steel Shafting C45-h38
Supplied i 1000mm lengths

MATERIAL | PART m - PART
HUHEER HUHEER

C4s ha 40
1[I Cils ha ﬂliHI.'l 45 Gd& hﬂ ﬂlﬂl&
12 C45 ha sz =] C45 ha SMS0
14 C45 ha sS4 a5 C45 ha SM55
15 a5 ha BMNHS &0 Cds ha £ L]
16 C4d5 ha BNHE &5 Cds ha BMES
17 C45 kD ShT Ta C45 ko SMT0
18 45 ha SNHE 75 Cds ha BNTS
14 C45 ha ShMa 80 C45 ha SMED
Also available in 3 & 6 meire g E:: E : $ ﬁ g :ﬁ
lengths on request - CA% ha VS e C45 ha VS
28 C45 ha SM2a 100 C45 ha S0
30 a5 ha SN0 105 Cds ha BNHDS
52 C4d5 ha SN2 L hli] Cds ha SN0
a0 C45 ko SM35 116 C45 ha S5
38 C4o ha SM3a 120 C45 ha Sh20

48



Shafting, Collars & Keys Locking Collars / Key Steel / Wood Ruff Keys

Standard - Shaft Locking Coellars chw Grub Screw (DIN 7035)

SIZE (mmj THICKMNESS | PART NUMBER EIEElnmﬂ THICKMESS | PART NUMBE
oo {rm) lD lmml

& 12 8 ABDINT 05 AJSDINTOS
] 16 8 ASDINTO0S d-l] 'Iﬂ AJODINTOS
1o 20 10 ATODANTOS 45 o 18 A4SDINTOS
12 P 12 ATZDINTOS 48 70 18 A4BDINTOS
16 25 12 A1SDINTOS 50 BO 18 ASODIN TS
16 28 12 ANGDINTOS 55 BG 20 ASSDINTOS
il a2 14 AZODANTOS &0 80 20 ABIDINTOS
s p 14 AZIDINTOS 85 100 20 ABSDINTOS
5 40 16 A2SDINTOS m 100 20 ATODINTOS
26 40 16 A2GDIN TS 80 110 22 ARODINTOS
] 45 16 AZEDINTOS a0 125 s AQODINTOS
30 45 16 AJODANTOS 85 140 25 ALSDINTOS
32 50 16 AJZDINTOS 100 140 25 AN00DINT 05

Heavy Duty - Shaft Locking Collars cfw Grub Screw (DIN T03)

=
[n] oD i, ID lmml

20 40 20 AZODINTOS BA40DINTOS

25 =6 22 AZSDINTO3 El] 21] ASODINTOI

28 B3 22 AZEDINTOS &0 1I:ID 28 AE0DINTO3

an x| 22 A0 703 L 110 a2 AFODINTOY

36 T0 22 A3ISDINTO3 i 110 a2 ATSDINTO3

Key Steel - 1 Metre Lengths (DIN 6880)
Supplied n 1000mm Lengths

& 1000

T 1000 I{ﬂ?
10 8 1000 Ks108
12 8 1000 Ks128
14 L 1000 KE149
16 10 1000 ES1610
18 i 1000 Ks1811
22 14 1000 Ks2214

Wood Ruff Keys (DIN 6888)
Supplied in PACK quantities

ol Pl

4- 18 HH-!IJ"EIB
8 &2

;] E 22 'II:] L‘I'I'E

L] 1 28 10 WHE1128
B il i 10 WHEE112E
8 13 32 10 WHE1352
10 13 32 10 WH101332

49



Shafting, Collars & Keys Gib Head Keys

Gib Head Keys (DIN 688T)
Supplied in PACK quantities

Pl

= = 50

L: L: 40 1IJ

L: L: B0 10 ﬂ{HH

L] L] B0 10 GHGGE60

L] L] a0 10 GHGGI0

8 5 B0 10 GKESSD

2 7 40 10 GKEV40

8 T B0 10 GKETS0

8 7 Bl 10 GKETED

A i a0 10 GKETI0

B 7 100 10 GKEF100
10 L Bl 10 GK10660
10 | 40 10 GK10840
10 E:] 50 10 GK10850
i 8 Bl 10 GK10860
10 8 BO 10 GK10880
1] ] 100 10 GEA02100
12 .| B0 10 GK12660
12 8 40 10 GK12840
12 a B0 10 GK12860
12 A a0 10 GK12880
12 2 100 10 GK128100
14 G 7o 10 GK14670
14 a Bl 10 GK14980
14 4 100 10 GK149100
14 8 120 10 GK149120
16 10 BO 10 GK1G10E0

Assortment box of Standard Keys (DIN 6885 ] DIN 6687)
PART NUMBER

Aezortment box of Standard & Gib Head Keys - DI 6885 NOG
£ DB 6887, Contains the following:

E [F- L ofGEAEKES0 S5of GKASK10840 5 of GESASK12840
m“ 5ol GRISKEEI0 5 of GKISKIDBS0 5 of GK/SK12860

e oW Dol GRAEKETE0  Gol GKSKI10860 4 of GRISK1ZEED
5ofGK/SKBTED  5ofGK/ISK10880 3 of GI/SK 14860

Assortment box of Standard Keys (DIN 68835)

PART NUMBER
Assortment box of Standard Keys - DN 6885 NO10
Contang the folowing:
1 i 15 of EXBE20 15 of SKBTED B of SK10B80
m 15 of SKEB40 10 of SK10840 5 of SK12840

m 15 af SKERED 10of SK10850 8 of SK12860
15 of SKBTS0 B of SK10860 5 of SK12880

50



Shafting, Collars & Keys Standard Keys

Standard Keys (DIN 6883A)
Sl.lpplied in FF-.CH quanliﬁes

g 5 10 SK5510 g 32 Emm:u
5 & 20 1|} SHK5520 1|} g a5 m BK10835
& & 25 10 SK5525 10 B 34 id SK10836
& & 30 10 SK5530 10 B 40 id SK10840
5 5 35 10 SK5535 10 g 45 10 BK10845
5 5 40 10 SKS5540 10 g 50 10 BK10850
& & &0 10 SK5550 10 B GBS id SK10855
& 4 &0 10 SHKGA50 10 B &0 1] SHK10860
53 53 i5 10 SKEGE15 10 g 70 10 EK10870
53 53 20 10 SKEG2D 10 g g0 10 EK10880
B B 25 10 SKEG625 10 B =] id SK10890
B B 30 10 SKE630 10 B 100 id SK108100
53 53 &2 10 SKEEI? 12 53 70 10 BK12670
B B 35 10 SKE635 12 B 30 id SK12830
B B 40 10 SKE640 12 B a2 id EK12832
53 53 45 10 SKEELS 12 g a5 10 BK12835
53 53 50 10 SKEGSD 12 g 40 10 BK12840
B B B0 10 SHBGEED 12 B 45 10 BK12845
& & 70 10 SKEGETD 12 g 50 10 BK12850
g 5 40 10 SKE540 12 g 56 10 BK12856
g 5 &0 10 SKE560 12 g &0 10 BK 12860
B 7 20 10 SKET20 12 B 70 id SK12870
g 7 25 10 SKET25 12 g g0 10 BK12880
g 7 2B 10 SKETIE 12 g 30 10 BK12800
B 7 30 10 SKET30 12 B 100 id SK128100
B 7 32 10 SKaTI2 12 B 120 id SK128120
g 7 35 10 SKETI5 14 53 g0 10 EK14680
g 7 56 10 SKETIE 14 g a5 10 BK 14935
B 7 40 10 SKaT40 14 =] 45 id EK14945
B 7 45 10 SKET4S 14 & B0 id SH14950
g 7 50 10 SKET50 14 g &0 10 EK 14960
g 7 55 10 SKETS5 14 g B3 10 BK14963
B 7 =] 10 SKaTE0 14 & 65 id SH14965
g 7 55 10 SKETES 14 g 70 10 BK14970
g 7 70 10 SKETTD 14 g g0 10 EK14980
B 7 B0 10 SKETED 14 9 100 10 SK149100
g 7 8BS 10 SKETES 14 g 120 10 EK149120
B 7 ai 10 SKara0 14 =] 125 id EK149125
B 7 a5 10 SKaras 14 & 200 id EK149200
g 7 100 10 SKET100 16 10 &0 10 EK161060
g 7 160 10 SKETI60 16 10 70 10 EK161070
10 B &0 10 SK10650 16 10 B id SEK161080
10 B Fit] 10 SK10670 16 10 125 1] EK1610125
10 g 20 10 SK10820 18 11 40 10 EK181140
10 B 25 10 SK10825 18 11 (i) id EK181160
10 B 30 10 SK10E30 18 11 120 id SK1811120

51



E =6 R

Short Link Chain (DIN 766)

Supplied in 30 metre lengths

QUTSIDE SAFE WORK | PACK GALVAMNISED SELF COLOUR
LINK WIDTH LI}AD kM aTy F‘ﬁ.HTHl.h‘iEEH FMTHUHBER

14 rmm
Errm 17 mm
G 200 ey
7 mm 23 mm
B rrm 25, rrm
10 mm 3 rrm
13 mm 44 mm
18 mm 54 mm

30 Metar

50 Meter
3.‘5 30 Meter
45 A0 Meter
63 A0 Metar
10 A0 Meter
18 A0 Meter
25 30 Meter

HHIIE'J'
SHOBY
SHOMV
SHOBY
BRI

ﬂ{ﬂﬁﬂ
SKOGE
BKOVE
SKOBE
SK10B
BK11B
BK16E

Chain, Cable & Rope Chain

b — . — .

CHK Foot Chain
Supplied in 20 metre lenghhs

=M G
HMKHPD‘I‘H WORHK LOAD | QTY F‘ﬁ.RTHIMEEH PMTHUHEER E F‘ﬁ.RTHU

¥ A0 Meter

3 ‘I 2 L1 A0 Meter CHI08 I:I{NEW
4 16 125 S0 Meter EHIW CHADB CEAORVE
5 20 148 A0 Meter CES0V CK30B CES0RVE
B 24 24 A0 Meter  CEEOV CKE0B CEEIRVE
7 a8 375 A0 Meter CHFOY CH0B CKTORVS
B 32 2 30 Meter  CHEOY CHE0B CHEIRVS
10 40 775 AbMeter CK100W CE100B CEA00RVE
12 A7 1125 A0 Meter CK120W CE120B CE1I0RVE

Victor Chain BZP {(Knotted Chain)
Supplied n 30 metre lengths

LENK PACK GALVANISED
THICKNESS GT‘I' FﬂRT NUNMEE

—FIXCEC em st @
2 mm 24 mm 22
2.3 mm 37 mm 23 Eﬂ hht-' ‘H'I'EEE\F
2.8 mm 43 mm 30 30 Meter WVHIOW
24 mm B0mm 35 30 Maeter  VEISVE

Long Link Steel Chain

| e [ [P
m[ﬂHHEEB LOAD nT'r

B7 mm 150 M eter LE1N

1'3 mm TR mm 200 Meter LK13

52



Chain, Cable & Rope Chain / Chain Accessories

Plastic Link Chain RED f WHITE
Supplied in 25 metre lengths

LMK PACK PART NUKMBER
THICKNESS | QTY

& mm 25 Meter KK150006
B mm 25 Meter  KK150008

Chain Repair Link

S
2
;

EEEEEEE

o
=

Quick Repalir Chain Repair Link

| SIZE (mm) | PART NUMBER |
3 KG03
' KGM
5 KG05
g KG06
T Ko7
8 KGO8
] KGO0
L] KG10
12 KG12
Standard Type Carbine Hook
ot iraer ™
mm mim NUMBER | PART NUMBER PART NUMBER
2] B0 KEHOS KHOSRYS
? E &0 KHO6 KHOGRVS KHO6S
T 70 KEHOF KHOTRYS KHOTS
= 8 80 KHDE KHOERVS KHOES
] 80 KHO09 KH09S
[ ] 100 KEH10 EH10RYS KH10S
T 1 120 KEH11 EH1IRVS KH11S
Screw Sleeve Type 12 120 KH12 KH125

53



Chain, Cable & Rope Chain Accessories

'S' Chain HD-DH
{ﬂ'l!'l'!:l 1n.m| FﬂRT HUMEE
d- d-l]
5 50 ﬂ'lllﬁ BI'IIIHIW
- 60 EHO6
7 70 SHOT
| a0 EHOE SHOERVE
10 100 EH10
Snap Hook
{mim
50 SHOION
40 SHO40M
=i SHOS0M
&0 SHOGON
7o EHOTON
BO SHORON
80 SHOGOMN
100 SHA100MN

Swivel Snap Hook

W PARTNUMEER | STAINLESS STEEL
{mm PART NUNBER

S5H16 SSH16RVS
a:-' m SSH20 SSH20RVS
106 28 SSH23

Swivel Link
3 WE34
& WEDS
8 WEDG
8 WEOE
10 WE1D

54



Bow Shackle
BIZE
(i
5 316 BSS
;| 14 BS6
| &g BSs
10 38 BES10
" 7ME  BSNM
12 i BS12
i L =t BS16
19 M BS19
22 7m BS22
25 1 BS25
‘D' Shackle
SI2E PFART NUMBER
|
5 IME D5
7] i4 D&
H arfe DB
10 a8 D10
1" 716 D1
12 iR D13
15 58 D16
19 T D19
22 78 D22
25 1 D5
Rings
Bx 40 GROGAE
8150 GROGSE
7 x50 GRO7TSE
Bx35 GROBIE
Bx &0 GROESE
8«60 GROBEE
8x 80 GROBIE

PART NUMBER

Chain, Cable & Rope Chain Accessories

STAINLESS STEEL

PART NUMBER

BESRVE
BSERVE
BSERVE
BES10RVS

BS12RVE
BS16RVE
BE19RVE

STAINLESS STEEL
PART NUMBER

DSRVE
DER VS
DERVE
D10RVE

D13RVE
D1GRVS

D19RVE

10 w40 GR1M4E
10 x50 GR105E
12 w80 GR126E

12x100  GR130E
'D' Ring
5 GDROSZE
8 GDROB4E
T GOROTSE
8 GDROB4E

55



Chain, Cable & Rope Wire Rope /Wire Rope Accessories

Wire Rope
Supplied in PACK quant'rtie&

= ER o Jm—
aTy

3 Gx19 30 Meter

3 6x18 100 Matar amu

4 Gx18 2.2 30 Mater 430

4 Bx 19 2.2 100 Meter 4100

5 Bx19 34 30 Meter 500

<] Gx7 34 100 Meter 5100

<] Gx7 ar 500 Meter 5500

8 Gx18 4.8 30 Mater 630

8 Gx18 4.8 100 Meter 6100

8 Gx19 8.7 30 Meter 830

B 6x18 BT 100 Meter 8100

k| Exi2+7 BT BO0 Meter 8500

10 Bx 19 138 30 Meter 1030

10 6x18 138 100 Meter 10100

12 Gxi18 18,5 30 Mater 1230

iz 6x18 18,5 100 Maeter 12100

Wire Rope Grips
e Nl e

PART NUMBER

v Ve g M e

Jvim Ve hit

S e 5 G5 GHIWE

Bmm Wire &S GE GERVE

B Wi G G GERVS

1 0ren Wilfra i} G10 G1ORVS

1 20 Wiine 10 G112 G12RVE

1 Wiire: iU e G116

18mm Wire M2 G149

Wire Rope Thimble and Crimper

DESIGNED FOR | ROPE THIMBLE | CRIMPE
PART NUNBER F‘ﬂ.RT I'I.IHEER

S W
Jmm e

Rope Thimble e ﬁ mm
Brvum W BE WiKog
10 Villre BiD WiK10
11mm Wire WK1
1 2 Wiire Biz2 WK12
1 3mm Wire Bi3 WK13
Tamm Wire Wik14
1 Wiire =51 WK16

Crimper 18mm Wire BE19

56



Chain, Cable & Rope Cable & Stop Cable Accessories

Wire Rope Pulley
DESIGNED FOR _ mn'ruu

B Wire 40
Tmm Wire 5 50 nnnﬂu
Brum Were B &0 SROGO
Brm Were -] 70 SROTO
10mm Wire 10 80 SROE0
12mm Wire 12 &0 SROG0
12mm Wire 12 100 SR100
1 Wik 14 120 SR120
16mm Wire 16 140 SR140
18mm Wire 18 180 SR160
18 Wire 18 180 SR180
10w Wire 18 200 SR200
Universal Stop Cable
PART NUMBER
1600mm CA0 600
2600rmm CAD2E00
Inner Cahle
SIZE | LENGTH | PART NUMBER |
15mm 25 Meter Roll 20015000
25mm 25 Meter Roll 0025000
Ciuter Cable
(SI2E | LENGTH [ PART NUMBER |
1.5mm 25 Meter Roll 91025049
25mm 25 Meter Roll 9104 0070
Outer Cable End Cap
' "DESCRIPTION | SIZE__| PART NUMBER |
1.5 mm u-mmm
smm Z5mm  0GO70100

Custor cable end 25mm 0607010

57



Chain, Cable & Rope stop Cable Accessories

Cable Nipple Retainer Open
PART NUMBER

Cabie nipple refaines 21088040

<»

Cable Nipple Retainer Closed
-

Hook on nippée 8« 15mm J1008015

Adjustment Nipple

PART NUMBER
ME 47105035
ME 47106035
e 47108035

Soldering Nipple

13 36 28 28133528
13 45 20 28133520
13 3.5 2.3 281525
] 25 23 2BOB3523
4 a0 1.7 28043017
i 6.0 1.8 28066018

Clip Piece and Screw

| SiZE___| PART NUMBER

H5x6 26105506

%10 BEI0E0T0
’ Gx15 BET0G01S
Tx8 26107009
Tx11 26107011

Bx 8 BE10E00S
Bx 15 BE10R015

Assortment box of Accessories for Operating Cables

DESCRIPTION PART NUMEER
Aszortment box of Accessonies for Dperaling Cables SEADOD

58



Chain, Cable & Rope Turnbuckles

Turnbuckle with 2 x Plain Ends {DIN 1480}

[ THREAD [ RANGE (L PART NUMBER
20 - F20 liIﬂL'I:I'IH“-ﬂ
ME 240- 316 MAECCOIMN 1480
MO 300- 386 MADCCDIN 1480
P S00- 580 EH2CCDIN1480
M8 00 - 510 BMHECCDIN 1480
M0 4400 &7 M2OCCDIN 1480
M2 4800 - 30 M22CCDIN1480
24 G20 - &30 24 CCDIN1480
30 S20- GAO MADCCDIN 1480
as &00- Tl MIGCCDIN 1480

Solid Body Turnbuckle with 2 x Plain Ends (DIN 1478)
| THREAD | RANGE (mm) | PART NUMBER

a2 SO0 - Fa0 MAZ2CCDIM 1478
M6 400 - 520 MIGCCDINTATE
20 400 - 540 N2OCCDIM 1478
B24 S20- 700 M24CCDIM 1478
LU 520 680 MIOCCDINTATE

Turnbuckle with 2 x Eyes (DIN 143'-'}}

TiREaD [ RANGE (mm ] PARTNUMEER
165 - 248 IIIEH:I'IH“HI
ME 17%. 254 MEEEDIMN 1480
1o 210- 285 MADEEDIN 1480
L7 s 2Ad- 30 MZEEDIN 1480
LR HA0- a0 MNGEEDIN 1480
M0 336 - 486 M2OEEDIMN 1480
M2 0= 520 M2ZEEDIMN 1480
B2 420 - 580 MZ4EEDIN 1480

Solid Body Turnbuckle with 2 x Eyes (DIN 1478}

_m
167 - 257 muwx
HH 178 264 MAEEDIN147E
10 210- 305 MHOEEDIN 1478
M12 230- 320 MHZEEDIN 1478
M1e 330 - 450 MMGEEDIN 1478
20 336 - 476 MOEEDIN 1478
M2d 420- 600 MZAEEDIN 1478

Turnhu-::kla with Hook & Eya [DIN 1430]

Y PARTNUMBER _

o ir2- 252 MEHEDIM 1420 MEHERVE 1480
182- 257 MEHEDIN 1480  MEHERVES14E0
M‘Ii.'l 213- 288 MIOHEDIN1480  RMOHERVS1480
12 258- 318 M1ZHEDIN1420 N 2HERVE1420
M1 S20- 450 MAGHEDIN1480  NGHERVE1420
M0 367 - 487 M2OHEDIN 1480
M2z 4407 - 557 M2IHEDIN 1480
B24 447 - G617 M24HEDIN 1480

59



Chain, Cable & Rope

Nylon Rope on Reel
Supplied in PACK quantities

{mm
220 metars HIH
220 meters
H 220 meters HRE
10 220 meters  NR10
12 220 meters  NR12
14 220 meter= NR14

Nylon Rope packed in Plastic
Supplied in PACK quantities

% PACK QTY | PART NUMBER

20 meters

'ﬁ 20 meters HT&I‘.I:IBEE
a 20mefers  NTSO0EM2
1] 10meters  NTS010102

Nylon Cord
Supplied in PACK quantities

BIZE | PACK QTY | PART NUMBER
mvn

100 meters  NTE0Z100Z

3 S5 meters  NTE003252
3 100 meters  NTE03100Z
4 2Emelers  NTE00425Z
4 100 meters  NTE041002
5 25meters  NTE005252
= 100 meters  NTE0S100Z
& 2Gmeters  NTE00625Z
& 100 meters  NTEOG1002
B 100 meters  NTSOE1002
Parcel String
Supplied n PACK quantities
Parcel Packing String S0 meters  NT4000502
Hemp String 100 meters  NT4001002
Hemp String 200 meters  NT4002002
Sisal Cord
Supplied n PACK quantities
2.8 mm Sisal cord G0 meders  NT2600602
2.5 mm Sesal cord 280 meters  NT2E0ZE02
35 mm Sisal cord 25 Kg NT3I602502Z

60



Clamps, Ties & Tape Hose Clamps

Worm Screw Hose Clamps
Supplied in PACK quant'rtie&

TOSUITHOSE | PACK
0D {rm ET"Ir F!LFIT HU

7-13 SETF1IRVE
10-16 1W SETI0MG EGTI016RVE
13-18 B0 SET1319 EGTIF19RVE
16-27 50 SCET1627 SETIG2FRVE
19-29 SCET1929 SET1020RVE
23-36 B0 BGT2335 BGT2I35RVE
25-40 B0 SGT250 SGT2MO0RVE
30 -45 B0 SGTINAS EGTIHMIRVE
32 - B0 B0 BGTI250 EGTIZS0RVE
40 - 80 50 SCET4060 SETI0G0RVE
a0 - 70 5 SGTH0M0 SGTHMTIRVE
60 - B0 ) SGTEHOE0 SGTEOEORVE
70 - 80 5 SCETT090 SETFOO0RVE
80 -100 5 SCETREON0D SETE000RVS
80 - 110 5 SGTION0 SGTI0110RVS
100- 120 ) SGT1001:20 SGTI00120RYS
110- 130 5 SET110130 SET110130RVE
120 - 140 5 SCT120140 SET120140RVE
130- 150 ) SGT130150 SGTI30150RYS
140 - 1860 5 SCET140160 SET140160RYVE
150-170 5 SCET150170 SET150170RVE
160- 180 5 SGT160180 SGTI60180RYS
170 - 180 ) SGTI70190 SGTIT0190RYS
180 - 200 i SET180200 SGTIEDIDIRYE

Mini Hose Clamps
Supplied in PACK quantities

TO SUITHOSE PART NUMBER
Q0 {mm aTy

7-85 10 2588

B-85 10 2584

B-10.5 10 Zs100
85-115 10 Z5119
10.6-1256 10 25124
115-135 10 Z5130
12.5- 145 10 Z51440
135- 1656 10 25159
14 -16.5 10 Z5168
15-176 10 25189

61



Clamps, Ties & Tape Hose Clamps / Lead Clamps

Hose Clamps - RHC Heavy Duty - 1 Piece

TOSUITHOSE | PART NUMBER | STAINLESS STEEL
0D {mn PART NUMBER

17 - 18 1718 171985
20-22 2022 202288
23-25 2325 232588
25-27 2537 252758
26-28 2628 262858
29-31 203 203188
32-35 3235 323588
36 - 39 3639 363988
40 - 43 4043 404388
44 . 47 R 444758
48 - 51 4851 485188
52-55 5255 525588
96 - 5o EL 565958
60 - 63 GG BOG3ISS
54 - 67 G467 B4BTSS
88 - 73 6873 687388
T4-T8 fava T4r9ss
80 - B85 BOES BOBSSS
86 - 91 8691 269188
0287 9247 929758
88 - 103 98103 SEI03SE
104 -112 104112 10411258
13- 12 113121 11312188
122-130 122130 122113088
151-139 131139 1113988
140 . 148 140148 14014888
149 - 161 148161 14916155
182-174 162174 16217488
175 - 187 175187 17FHETSS
188 - 200 188200 18220085
201 - 213 201213 23S
214 - 226 214226 2MIFGEE
227 -239 227239 22723988
240 - 252 240252 24025288

Lead Clamps

0 il

l'l'l'l'l

48-654 186 RSGUI0ETZ
79-95 165 :a REGU10612
85110 178 10 RSGU1ITD 2
f1.1-127 185 1 REGU11112
127-143 184 12 RSGU11212
143-168 202 16 RSGU1ISZ
1r.6-180 218 18 RSGU1TETZ
206-222 234 20 REGU12015
22-238 42 22 REGU12215
204-270 28 26 RSGUIZ515
286-302 2789 28 REGU12815
3ME-333 284 32 REGU13212
445-470 WO 44 RSGU14412
51.0- 640 RSGU1STMZ

62



Clamp, Ties & Tape Cable Ties / Tape

Cable Ties

e i [ [Poe
{nm:l

ET.H“I:I

4.B 1‘-'{!] Gln- CTAT 195N
48 186 Blue CT481E6E
4.8 188 Graen CT4R1E6G
4.8 186 Red CTAZ186R
4.8 186 Vellow CTAZ186Y
48 200 Black CT48200
4.8 SO0 Black CTAE3I00
48 0 Clear CT48300MN
4.8 S50 Black CTAEI60
T8 252 Black CTrE240
TE 55 Black CTFR365
2.0 i L] Black CTI0710

Electrician’s Insulating Tape

= — Sold per ROLL
-~ i Kl = 2 il
LENGTH
Inzulating taps iedlow 10 meters  EN20401
Insulating tape Blue 15 10meters  EM20402
Inzulating tape Green 15 10 meters  EM20403
Inzulating tape Red 15 10 meters  EN20004
Inzulating taps Black 15 10 meters  EM2KI05
Insulating tEpe Black = 1) 10 meters  EMRO406
Inzulating tape K30ASZ5M15  Black 15 - EM204 25
Silage tape Red 50 10meters ENMZ0407
Zags tape e T L= 1) 10 meters EMO40E
Shace tapa il [cnw = 1) 10 meters  EMRO409
Silage tape Grey 50 10meters EM204012
- \ Adhesive Tape
3 Soid per ROLL

s il -5 il
Adheshve Tape PE
Adhesive Tape Bhnlt 1[!] 1I:l Emm
Adhesive Taps White 100 10 EmZo4011

63



Clamps, Ties & Tape

Masking Tape
Sold per ROLL
i il 2 il
LENGTH
Masking tape Mueitral 18 SOMeters PP301-19
Masking tape Meutral 25 S0 Meters  PP301-25
basking tape Meutral 30 S0 Meters PP301-30
Masking tape Mueitral - SO Meters PP301-38
Masking tape Meutral S0 S0 Meters PP301-50
Duck Tape
i = 2 il
SR ey
Box of 12 rofis of Duck tape  Siver S0 meters 5000402
Sgle roll of Duck tape Siver EI:I SOmeters  S00040:111
P.T.F.E Tape
Sold per ROLL
e il e e
LENGTH
RP.T.F.E Sealing taps White 12 meters  FG1000

LOCTITE® Super Glue

High Performance - Instant Power, Lodlite Super Glue's high performance
formula ghves a strong bond In seconds on a wide variety of surfaces.
Applications: |deal for bonding

* Porcelain, China, Poltery, efc,

s Costume Jewelery, Brass, Aluminium, Copper, ele.

* Repairs to Rubber Trim, Toys, Housshold Applances

« Leather Handbags, Belts, Shoes

= Vilboden Frames, Handles, Cork, Card, Most Fabrics

Alzo avalfable in GEL

DESCRIPTION | PART NUMBER
Super Glue - 24 x 3g Bister Card 01602
Sugper Glue - 12 x 3g Bister Card 01612

Wa stock a complete range of Loclite products.

dsk our Sales S1aff for further details

64



Knobs, Handles & Caps kKnobs / Handles

ROUND Control Knob
-EEEEEI
ME J9C0625
ma 32 IM9C0832
M0 40 J19C1040
M1z 50 J19C1250

STAR Control Knob
_IEEIIEEII
Ms 63360632
Me 44: 63360840
M10 o0 GEXIG1050
M12 B3 GXIG1263

be 25 EXIGE0632

ra 25 4[| EXIGE0840

&0 25 &0 EIIEE1 050
25

Mz 63 BIIGS1263

Handle (Female Thread)
M3 KS460548
M0 KS460549
12 KS460550

STAR Control Knob with Threaded End
EEEEIEEEIEEI

Handle {Male Thread)
THREAD
Mg 40 KS460554
M10 40 KS460556
bz 35 KS460557

65



Knobs, Handles & Caps Plastic Caps

Square Plastic End Cap

2020 KE199224
25 w25 KE199113
50 30 KE199151
55 56 ES199117
40 w40 K.E199062
45 w45 EE107 06

50 x50 ES199100
60 w a0 Ks199211
0w Tl KS199255
B0 x B0 KS199247
a0 x 80 FE4 60G00
100 x 100 ES111210

Rectangle Plastic End Cap
DIVIENS10NS {mm

30 x 15 KB1 2655

w20 KEs111341
40w 20 Ks199213
80 x 26 KS199176
60 x 30 KS199225
60 w40 KS199226
B0 x40 Ks199227
100 x 50 K5199228

Round Plastic End Cap

15 Ks11792
20 Ks11788
25 Ks11784
3 KS117 76
an KS4 60677
100 Ke4 60679

Plastic Cap to suit Hex Bolt
HEX DIMENSION {mm PART NUMBER

7.9 s KS15211
a8 me KS12837
12.8 Mg KS12838
16.8 B0 KS12839
18,8 L KS12840
218 M4 KS12841
238 1S KES12842
287 20 KS124870
AT B24 KS12807

66



Rivets Pop Rivets

Pop Rivets
Supplied in PACK quanfities

A Pl e el e
P} aTY | PARTHUMBER | ALUMMNIUK PARTHUMEER | PART HUNBER

3 5 X5

3 | i8 JERVS

100

100
3 10 100 o JORVE
32 L: 100 3265
32 10 100 oL
iz 12 100 Ll i
4 L] 00 46 4GRS
4 8 100 48 48RS
4 10 0 410 410L 410RVE
4 12 0 412 41ZRVE
4 15 100 415RVE
4 15 100 416 416L
4.8 10 100 4810L
4.8 16 100 4816L
B 10 100 510 ST0RVE
B 12 100 12 128 SRS
5 14 100 314
5 15 100 J15RVE
5 16 100 G
B 20 100 520
L] 22 oo a1
B 30 o0 530

COPPER Pop Rivets for Brake Linings

| SIZE (mmj) | LENGTH (mmj | PART NUMBER _
4 10 CR410
4 12 CRA12
= 12 CR512
8 10 CRE10
L 18 CRG18
8 20 CRE20
8 20 CREZD
Pop Rivet Gun
Supplied with 4 nozzles bo accepl varous sizes of rivet

Pop Riwvet gun for riveting 3 4 B 5 mm nvets g27m

67



Rivets DIN 661 / DIN 660 Cutter Bar Rivets

Cutter Bar Mower & Combine Knife Rivets
Supplied n PACK size

F:AI:H DIM 661 DIMGED
COUNTER SUNK | ROUND HEAD
PART NUMEER | PART NUMBER

= 12 Kg S12VZ

= 12 Kg SX13ICS

E 15 12 Kg 515V2

5 18 12 Kg S16V2 SX16RH

= 17 12 Kg S17VE

= 18 12 Kg S1BVE SX1ERH

5 20 12 Kg SX20CS SHHRH

] 22 12 Kg SX22C8H

§. 25 12 Kg 5X25CS 5X25RH

B 27 12 Kg S2TVE

] a0 12 Kg SX3IXCE

5 3 12 Kg 535V2 53562

£ a8 12 Kg 536V2

54 13 12 Kg S4X1ICE 34X1IRH

54 18 12 Kg SA4AX16CE 34 X16RH

E4 20 12 Ky 5.4%20CS 5.4%20RH

54 22 12 Kg 5.4%22CS 5.4%22RH

54 25 12 Kg S4X25CE 5.4 X25RH

54 28 12 Kg SM42EEZ

£4 32 12 Kg 5.4%32CS 5.4%32RH

5.5 18 12 Kg 16BZ
DIN 661 Counter Sunk & iz 12 Kg B812VZ 6X1IRH

& 14 112 Kg B14VE

& 15 12 Kg BX15CE

& 18 12 Kg B16VE GX16RH

;] 18 12 Kg B1BVE GX1ERH

g 19 112 Kg 61962

6 20 12 Kg B20V2 62062

L] 22 12 Kg Lt =
DIN 860 Round Head B a9 12Kg s2VE

g 25 112 Kg BX25RH

& 26 12 Kg 626VZ

L] 28 12 Kg GX2ERH

g 3 12 Kg BXIICS 63062

g 35 12 Kg BISVZ 63562

;| 40 12 Kg 640VZ G0BZ

L] 42 12 Kg B42VZ

g 45 112 Kg 64562

g &0 12 Kg BS0VZ

& &0 12 Kg GE0BZ

T &0 112 Kg 76082

2] 12 12 Kg e =

g8 15 112 Kg #1562

I 112 Kg 82082

2] 25 12 Kg E5RH

2] 35 12 Kg 58T

8 &0 112 Kg 85062

0 20 112 Kg 102082

10 25 12 Kg 102582

0 30 112 Kg 103082

Maote: Pard numbers marked in Red are not stock Bems but are avalzable

68



Springs & Dampers Springs

Compression and Extension Springs

WIRE Em CONMPRESSION | EXTENSION
SIZE SPRING SPRING
{mm PARTNUMBER | PART NUNMBER
2K+ ] ES 1585500
TR L L AN Y PTG ; 0 500 CS1310500 ES1510300
15 12 500 C51512500 ES1512500
15 14 500 C51514500
“AB 20 L] ES 1520500
2 12 ] CS212500 ES212500
2 14 500 C5214500 ES214500
2 16 &00 ES215500
Compression Spring o 16 500 8216500 ES 716500
2.5 12 ] ES2512500
, 25 14 B00 CS52514500 ES2514500
T — 25 18 410 C52516410 ES2516410
25 16 500 C52516500 ES2516500
25 i8 L] CS2518500 ES2518500
a 20 ] CS320500 ES320500
3 25 500 C5I25500 ES325500
3 30 500 CSII0N500 ES330500
Extension Spring 4 26 BO0 C5425500 ES425500
4 30 B00 C5430500 ES430500
4 35 500 C5435500 ES435500
] a0 B0O0 CS530500 ES530500
B 36 B00 CS535500 ES535500
5 40 500 CS540500 ES540500

Assortment box of Compression Springs

PART NUMBER
Aszortment box of Compression Springs SEGO01
onfaing the folowing:

DEDX4x 10 1.000x B x 30 1.75x 12 x 40

060 8x 20 100012 45 1.75 x 16x 60

050 x4 x 30 100x 15 % &5 175 x15x B

OB0x 4215 125 x10x 30 175 x20x 100

0BDx&x 25 128 x15x 45 200 %12 x40

060 Bx40 126 x 18x 65 2.00x 16 x 60

080 x8x 35 150x12= 20 200 =20 B0

080 12 x40 150x 15 = &0 200 x22x 100

00y 15 %60 1500 20 % 80 .

Assortment box of Extension Springs

69

PART NUMBER
Aszortment bow of Extension Springs SEGOO2
Contains the foBowing:
050 x Sxdd 1.00%12x 90 1.75x 12 x 60
0.50x% T x el 126x% 8 x 60 1.75 x 14 x BO
075x&x50 125211 x 80 1.5 x16x 110
OVSx B 70 125 % 14 100 200 x15x B
OTEx 10x 26 1.60x 10x 60 200x 17 x B0
100« 8x 50 1.60x 12 x 80 200 x 20x 110
1.0 10 % 70 1500 15 100



Springs & Dampers Vibration Dampers

Vibration Dam per to suit Massey Ferguson

QEM PART
NUWMBER | NUMBER

A4212  BEIE2IMT  0F120006

1m. 175, 265, 275 Ad4.236
178, 185, 188 285, 290 Ad_248
165 ALY 203
Massey Industrial

50, 508 Ad.212
50, 508 MKIL 300, Ad.236

500, S0E, S0EX. 50H, 50H =eries &,

SIHX, S0HX Senes 5, G0H

S0EX, 60H, B0H senes 5 A 248
50 AD4 203

Universal Vibration Dampers

Rubber Mountings

* hade from natural rubber

+ 4 types avalable

Techrical Information:

Max Torgue: - Max 15% com pression of height

Rubber Mountings -" A" Type

) ey
(D) fmim} {H} {mm [T} {mm; S PART NUMBER
20 i

5 L: 15 2015855
20 L] 18 250A55
a0 20 2] 20 J020ASS
a0 30 8 20 S0I0A5S
40 1] 8 23 4030455
40 40 8 23 4040855
S 20 10 28 SO20A55
Bl 30 10 28 S030A55
18] 40 10 28 S040855
=18 45 10 28 S045A55
G 35 10 28 GO35A55
76 25 12 a7 TH25A55
76 40 12 a7 TH40A55
76 50 12 a7 TH50A55
100 40 18 45 1004008, 55
100 &0 18 45 100604 55

70



Springs & Dampers Vibration Dampers

Rubber Mountings -* B * Type
DIAMETER | HEIGHT | THREAD DIMENSIONS
mnm

3I:II
40
40
50
50
50
=11
&0
75
75
100
100

W?ﬂﬂﬁ-ﬁ
A0I0B5S
A04DB5S
S020B5S
S0I0B5S
S040B5S
S045B55
BOISB5S
THDB5S
TH50B5S
1004 0BS5S
10060855

EEEERbLE8BEEEY
=
GHYYEEEBEEEEE

Rubber Mountings -* C* Typa
DIAMETER HEGHT H
) u
25
A0
40
40
a0

al
50

hEEEEEH

Rubber Mountings -' D" Typa

PART NUMBER

1508055
2015055
2517 D55
020055
021055
042055
TH25055
351055
10040055

71



Grease Nipples Grease Nipples / Hook Joints

Th r&adm:l Grease Nippl&E

| THREAD SIZE | LH-J—'-
MEx1 G180 M10x 1
RE % 1 ﬂ[F' TaGa0 Mi0x15 'IH]" lﬂ'lﬂ'lﬁi!ﬂ
M x 1 45° MB45 M10% 15 o MHD1580
M x 1 180° ME150 M10x 1.5 45 MHO1545
g = 1 |00 MEa0 18 BEP 180° 18180
M x 1 45° ME45 18" BSP o0 1800
MBx 125 180° ME1 25180 11" BSP a5 1845
e = 125 a0° TViE1 2590 1/4° BSP 180° 14180
e = 125 45" ME12545 14" BSP s 1480
M0 x4 180° M10180 114" BSP ag 1445
M0 1 ape M1090 114° UNF 180° 141BO0UNF

Flat Grease Nipples (Button Head)
PART NUMBER

g = 1 FGHE1
10 1 FGN101
1/8" BSP GNF1818016

MNon-Threaded Graasa Nipples

& mm 180« G180
- B mm 180« 2180
B mm L 290

Assortment box of Threaded Grease Nipples

PART NUMBER
Aszzortment box of Greaze Nipples HO14
Contains the folawng
25 of ST B0 10 of 1850 5 of M1045
10 of G390 10 of 845 15 of 18180
10 of M&45 5 of 0180 & of 1880
25 of et et 5 of M1050 5 of 1845

Hook Joints
P il P—

[n] ab A PART NUMBER
10 20 54 HJ04
12 24 &0 HJ01
16 . B0 HJO3
2 40 100 HJOS
22 45 110 HJ06
25 50 125 HJo7
3 55 135 HJOE
50¥ B0 250 HJd12

72



